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Which among the following (Provision — Part of
the Constitution) is not correctly matched?

(a) The Union Territories — Part VI

(b) The Scheduled and Tribal Areas — Part X

(€) Tribunals — Part XI

(d) Official Language — Part XVII

1.

frafoafea & & a9 @1 (Geus — w@fuE &1
W) e gafera w8l 87

(a) He 5T &= — | Vil :

(b) arggfaa iR SHunfa &5 — | X

(c) SFferRor — W X1

(d) ISTETET — M7 XV

Match list-l with list-Il and select the correct 2 - B G-Il § Fafera difore Jom gt @
answer using the code given below the lists : Hr fau 1T e | ¥E S B gy —
List - | T — |
(A) Article — 324 (A) T — 324
(B) Article — 315 (B) 32T — 315
(C) Article — 280 (C) 3T — 280
(D) Article — 338 (D) 35S — 338
List - I & —
(1) National Commission for Schedule Castes (1) IS ST St ST
(2) Finance Commission (2) fa= emavT
(3) Public Service Commission (3) AT HaT I
(4) Election Commission (4) Fat== smamT
Code - e —
(@) A-(3), B-(2), C-(4), D-(1) (@) A-(3), B-(2), C-(4), D-(1)
(b) A-(4), B~(3), C-(2), D-(1) (b) A-(4), B-(3), C-(2), D~(1)
(©) A-(3), B-(2), C-(1), D-(4) (©) A-(3), B-(2), (1), D-(4)
(d) A-(1), B~(3), C-(4), D-(2) (d) A-(1), B-(3), C-(4), D-(2)
Consider the following events and arrange these 3. f=faRad aear w) far FIT Tor = |8
in correct chronological order starting from the PIATIHT H AR PIY, T I8l ¥ AP
earliest to the last activity — IRy Tfafaf g —
(1) Appointment of the Drafting Committee (1) TTRFT R & ﬁ'ﬂﬁﬁ
(1) Indian Constitution was adopted and enacted (1) TRdE GREE @Y @ﬁqm iR sk
(1ll) Date of commencement of Indian
Constitution R
(IV) Constitution Assembly first met (1) AR I bk By B 1 ffr
Select the correct answer from the code given (IV) SfQeT &1 31 ger do
below — I 2T 1Y e | I SR B 9 Hifw —
Code - ®e — :
@, u,1,1v (®) 1v, 1, 1m0, 11 @ m,n,1,1v (®) 1v, 1, 1, 11
© 1,1, 1v, @ v, 1,1, 1m © 1,1, 1v, @ v, 1,1,
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I <1 HeA E, H ¥ UF 31 e (A) iR

Given below are two statements, one is labelled 4

as Assertion (A) and other as Reason (R) - TR BT BROT (R) HET 7T & —

Assertion (A) — The Presif:lent can recommend to SRrBe (A) — el <ow @ W ggen @
boundary of any. chateh sfie ResrfRer <Tegafi wers a 2an 2
seeking views of the concerned R zwd forw ?Ttgqﬁf LRSS
Legislature of that state on the W B fred gRT 99
subject within specified period. T R R e 9™ eEfy

Reason (R) — It is not mandatory for the President B NI Ug dYd & |

to accept the proposal of the HROT (R) — TR P SH 99 RuTHeA B
| ) concerned State Legls;]laturz S T SR s A

Ezlii\tl:( e correct answer using the code given 1 Ry T 3§ W IR B R —

(a) Both (A) and (R) are true and (R) is correct 3) (A) 3R (R) T € € 3R (R), (A) BT Hel

explanation of (A) AT DT %‘ !

(b) Both (A) and (R) are true but (R) is'not correct b) (A) 3R (R) <l G € g (R), (A) BT e

explanation of (A) AT TE BT B

C) (A) is true but (R) is false ©) (A) 6 ® ﬁ’ﬁ (R) Terd @

(d) (A) is false but (R) is true d) (A) Tera & fbeg (R) Wed &

With reference of the election of the Vice - 5 9Rd @ SuIgdfy & Raq, 9 dar=

President of India, which is declared void by the ITed gRT I Oifta far Tar 7, @ 6 #,

Supreme COl.JI't of India, which of the following e & ¥ B a1/ B ol R /¥

statement/s is/are corre&;t? . ‘ 1) /— s t[tf
(1) The acts done by him as Vice — President ST !
before such declaration are considered valid. SHS R 6y T HEfAE A B 2

(2) The acts done by him as Vice — President on (2) SRIEUY & w9 H §9 UHR P G0N B
the day of such declaration are not considered % feq S grT fdu v Frifdfy A F81
valid. B &

Ezllzi the correct answer from the code given = Ry Mo ae I G SR BT T FY —

Code - R -

(@) Only 1 (b) Only 2 (a ) dad 1 (b) aet 2

(¢) Both 1 and 2 (d) Neither 1 nor 2 ©) Ml 17 2 d) 5 dr 17 & 2

Who among the following is the first women 6 Fﬁ'ctT\':l'lﬂ BI g Afgen Wiex = § | 3 87

Speaker in Lok Sabha? a) yfemr aifes (b) 3fifar R

(@) Pratibha Patil (b) Urmila Singh

(¢) Meira Kumar (d) Sushma Swaraj () AT A (€SP

Which one of the following pairs (Schedule - 7- = T # & @@ W (GRUE & I

Subjects) is not correctly matched? ‘ — fawa) w& gﬁfgﬁ T2 &7

(@) Third Schedule - Forms of Oaths or (a) S SR — wme AT WIS @ e

Affirmations i .
(b) Eight Schedule — Languages (b) 3edt STREEAT — TN
(c) Ninth Schedule — Allocation of seats in the (c) AT ST — XToTHAT H WA P AT
Council of States (d) THdt A — <o URadd @ MR W
(d) Tenth Schedule - Provisions as to frvaat
disqualification on ground of defection
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8. The Constitution of India initially permitted the 8 ¥R Wfdu™ = URW # &9 @l & forw w4t
use of English language for all official purposes AN Iegdi B UG 9191 & IUIRT & forg
for a period of - AR ga @ efi?

(a) 5years (b) 10 years (a) 599 (b) 10 9§
(¢) 15 years (d) 20 years (c) 159 (d) 20 a9

9.  Given below are two statements, one is labelled 9 1 27 B9 ¥ R ¥ e @1 GT&IEEQFT (A)
as Assertion (A) and other as Reason (R) - 3R Tﬂ"\t’ @1 PR (R) BET AT & —

Assertion (A) — The President is a part of the - (A);- S T ——

Parliament. -

Reason (R) — A bill passed by the two Houses of PR (R) — HRIE & I WAl g7 aIRa e
the Parliament cannot become a RTeEUfer Bl el @ fae DI &l
law without the assent of the I FHaT &

President. 9 R T oe @1 THEN B W@ IR @

Select the correct answer using the code given

below - g,

(@) Both (A) and (R) are true but (R) is not correct (@) (A) SR (R) S =1 €, fobeg (R), (A) BT W

explanation of (A) AT el BT §

(b) Both (A) and (R) are true and (R) is correct (b) (A)3R (R) SFT ¥ € 3R (R), (A) BT W&

explanation of (A) AT BT B

(c) (A) is true but (R) is false ©) (A) ¥ & =g (R)Terd @

(d) (A)is false but (R) is true (d) (A) e & fb=g (R) 9T ©

10. With reference to Union Finance Commission, 10- && fax amamm & wed # fr=foRed & @
which of the following statement/s is/are PITAT/F BT Hol & /87
correct? (1) T AT # Ue oRTe TN B W By ¥
(1) Finance Commission has a Chairman and six (2) T ST SRR ARy ST @ SR el

members. 8

(2) It submits its report to the NITI Aayog.

Select the correct answer using the code given Mt f5y g % H3, 0 S

below — o —

Code - e

(a) Only 2 (b) Both 1and 2 (@) daer 2 (b) 17q 2 I

(c) Only1 (d) Neither 1 nor 2 (c) Paat 1 (d) 5 o7 147 & 2
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11. Consider the following statements concerning 11 <1 S=acw ey &1 Hifered AfERI & &+
the powers of the Supreme Court to issue certain e @ forg Re o) o @ wifed & wey H
writs to stop violation of Fundamental Rights — Ty e Ry 77 87
(1) The Supreme Court has power to issue writs (1) SadH e BT g Ufdd Ued © & d8

like Habeas Corpus, Mandamus, Prohibition, T Teewy, UREeY, ufowe, AfER —
‘Quo Warranto and Certiorari which is g1 AR Sawer Re, S A 4o AfieRT @
appropriate for the enforcement of Fﬂ"'[\'cﬁﬁ @ forg ?Tﬂf%lﬂ 8, 99 Re &1 wam
Fundamental Rights. PR AT B |

(2) Parliament may by law empower any other (2) G BT AVHR & & 98 B 97 B bl
court to exercise within its jurisdiction the AR RITGI DI YA IMEERG I
powers given to Supreme Court. Brarell & Hiar Seaad ey $ &l TS g4

Which of the  above mentioned SIfdRTal T WANT BY G © |

statement/statements is/are correct? SRIFT AT § PG /T IR Bl B /8P

Select the correct answer from the code given o Ry W g § 4 W SR B TIA

below - PIg — '

Code - ®oeC —

(a) Both 1 and 2 (b) Only 1 (@) 13fR 23T b) ad 1

() Only 2 (d) Neither 1 nor 2 (c) Baa 2 d) @ 17 & 2

12. With reference to the Attorney General of India, 12 WRd & #ermardl & w& 4, Frfead de
which of the following statement/s is/are A Qi A/ & 2/

(C]c.)}rrAECt? i inted Att Ge | ) W X =

erson is appointed as Attorney General, A
wh'rD) is qualifichJlF::o be appointed as\g Judge of erfl, @ el
the Supreme Court. ﬁgaﬁ g @ fore aifed &

(2) The Attorney General can be removed (2) FETERET B SES U W S Withar W
through the same process as the Judges of TSN O 9HdT & oY {6 Swaad ey &
the Supreme Court. - =qraefren &1 | ;

Select the correct answer from the code given Y T 7T e A 9L SR BT AT PG —

below - i

Code - ==

(a) Only 1 (b) Only 2 (@) W E b) Pt 2

(c) Both1and 2 (d) Neither 1 nor 2 (c) T 17 2 () 7 < 177 & 2

13. With reference to the composition of the 13- WRa & U@ ¥od ¥ faum uRyg & T & weH
Legislative Council in a state of India, which of the § fore § @ /¥ oY w8 B/
following statement/s is/are correct? ' . R
(1) In the Legislative Council there may not be (1) T furT oRes § S9 w197 31 il

more than one-third members of the total fl Ao HE&T & s fass 9 e dsw
membership of the Legislative Assembly of 721 B 9ad ¥
that state. : e

(2) The L,egislative' Council of a state must have at (2) v 9 F e AR 5 79 | F
least forty members in it. W g € B AR |

Select the correct answer from the code given 9 Ry 17 B ¥ 98 SR F g9 DI —

below — e —

Code - e

(a) Only 1 (b) Only 2 (a) P 1 (b) Bact 2

(¢) Both1land 2 (d) Neither 1 nor 2 (c) T 171 2 (d) 7 dr 17 & 2
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4. with reference to the representation of Uttar 14 ¥Hg # SR Wew @ ufafafdea & @ #
Pradesh in Parliament, which of the following fer=fafaa soAl § 9 o4 w8 & /&2
statement/s is/are correct? . (1) 59 T B T 9w Y 316 amdfed
(1) Uttar Pradesh has 31 seats allotted for Rajya _

Sabha. gl
(2) 80 members of Lok Sabha are elected from (2) AT & 80 W TR W W fAaifE
Uttar Pradesh. B &
Select the correct answer using the code given 1 BT MU e W wd 9w gﬁm *
below — e
Code - RE—
(a) Onfy_l (b) Only 2 . (a) el 1 (b) ®aer 2
(c) Both 1and 2 (d) Neither 1 nor 2 ‘ (c) =Y 127 2 daIari1arar2

15. With reference to the post’s in Secretariate of the 15 Wwg @ wfvarera & uel @& ded & iy 4 @
Parliament, which of the following statement/s DI/ HUF A & /57
;sll)arg correct? : i . (1) W% @ Yo% e & aREem @ R

ommon posts may be created for the _
Secretariate of each House of Parliament. wfefer gt o ﬁﬁlﬁ fam i et € |
(2) The Parliament has right to regulate the (2) Sug @ o fedft ff wed & afrarer
service conditions of Secretariate staff of WIH o dA91 wdi & g e @
either House of it. ADFER BT 2|
zzl!:: ihe correct answer from the code given S fr o T ¥ T IR I T BT —
Code - we—
(a) Only 1 (b) Only 2 (@) daer 1 (b) e 2
(c) Both1and 2 (d) Neither 1 nor 2 (€) Qi 1 <= 2 (d) 5 @1 197 & 2

16. Which of the following statements is not true 16. f=ifeiRad o=l § ¥ a9 99T @ Hay & Hia
regarding ‘Gram Sabha’? | T8l 87
(@) It has the powers and functions at the village (@) sH® FH IR wfada 9M 'R W) W THR

level, like state Legislature has at the state g O T aRIfUeT 3 VY WX W) B
level. = |
(b) Its powers are determined by the Central (b) 3T wfdddi &1 FuRer =g wReR &
Government. ERT 8T & |
(©) It is a Village Assembly consisting of all (©) I8 TP UM WR P |91 &, o vamag @
registered voters in the area of Panchayat. &3 & Wi USiipd Aacrar | g & |
(d) (a) and (c) both (d) (a) ToIT (c) QT
17 All elections to the Panchayats are conducted 17- Yaraci & §Hw gATal BT WaTer Hvam & —
b B
(a‘; State Legislature (D) State Election (@) ¥roT ST (b)_ e ST
Commission (c) WRd &1 Fafawr  (d) Y=y I SmRinT
(€) Election Commission (d) Panchayati Raj ATTERT
of India Commission
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18. With reference to the recommendations of the 18 TaRIdT w1 WX aielie Vgal Wffe ufyde= (1977)
Ashok Mehta Committee (1977) on Panchayati el TE Rl @ el 3§ Fr=fRag sy
Raj, which of the following statement/s is/are . ; '
nal, 8 ol ¥ R P T g
(1) The three tier system of Panchayati Raj should (1) darrelt I & A9 W FawRl & R W

be replaced by the two tier system. v =g eMr 9y |
2) A block should be the first int f 2
(2) oc- s'ou e the firs pom”or 2) e %@ _
decentralization under popular supervision ]
below the state level. @ &1 yer fdg AT S =Ry |
Select the correct answer using the code given 2 feT v He H HE IO BT 999 PIfoIw —
below — e —
Code - )
() Only 1 (b) Only 2 (a) zﬁaa 1 (b) et 2
(c) Both 1and 2 (d) Neither 1 nor 2 (c) Y 13T 2 d) Fdr 17 & 2

19. The resignation letter by a Judge of Supreme 19 Wdled <G & TH R &1 AN-TH

Court is addressed to - Heiftd g a1 & —
(@) The Chief Justice of (b) The senior most a) R B A b) wateg =TT &
India Judge of Supreme T g aRrsan =araie @
Court :
) Tty d) gerrEE)
(¢) The President (d) The Prime Minister i) @ @ kil

20. Which of the following is not a part of the 20 f=fafad # & @+ ¥ dfeE &
Article 20 of the Constitution of India? e 20 @ feea 78 87
(a) Prohibition against (P) Double Jeopardy (a) 9% 3 Rvg aEfi(b) SR TvE B ERT

Self Incrimination Clause 2 W Py
(c) Prohibition Against (d) Ex-post Facto Law-
3 idianln . (©) AT & Reg vy (d) R R

21. Which of the following Provision is a part of both ~ 21. ' faferad & & @r=ar wraer= ifa R e
Directive Prmcnples of State Policy and o e A S BT OE AT 82
Fundamental Duties?

(a) Guardians to provide opportunity for (a) arfTae Tl & Brm & [EEx ea]
educatiF)n to chilc?ren (b) T e —
(b) Protection of environment
(¢) Participation of workers in management of c) SEI & UeY § HHGRI BT AT ol
industries .
d) |wuE AFTRe Hiedr
(d) Uniform Civil Code )
22. \With reference to the joint sitting of Parliament, 22- W¥IE @ GYRT do5 & weH #, Frafafad du
which statement/s is/are correct? H 9§ BFar/Y HYUF Hel 8 /80
(1) Article 109 provides for the joint sitting of (1) BT FB <RI § THg BT 2T Tt B
both Houses in certain cases. '\El'g’clﬁ m BT TG BT 2

(2) The Speaker presnFIes the joint sitting of the 2) ST weE @ e Yo B anerar THY
two Houses of Parliament. 2

Select the correct answer using the code given 7?!%[. ¥l ¥ 3w

below — fag v e S g -

Code - @c —

(a) only 1 (b) Only 2 (a) Baat 1 (b) ®aet 2

(c) Both 1and 2 (d) Neither 1 nor 2 (c) gAY 1 a2 2 (d) T dr 1T 8 2
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23. With reference to the invaders in ancient India, 23- UM @I & YR WX IMHAV B HEy W,
which one of the following is the correct refifg ¥ % PTATIHH
chronological order? R SR i
(a) Greeks — Sakas — Kushans (@) A — =B — FETT
(b) Greeks — Kushans — Sakas (b) AT — FuIOT — 27D
() Sakas — Greeks — Kushans (¢) o1& — — BT
(d) Sakas — Kushans — Greeks (d) 7 — HuTT — ?f"_*ﬁ

24. ‘Milind Panho’ is in the form of a dialogue 24 ‘fifer= U=y W Rt @en TE g Py @
between Klnfg Milind and Buddhist Saint. The T Hare w9 F 2 97 Wﬂi o —
concerned saint was -

(@) Nagarjun (b) Nagbhatt (a) T (b) FrTHE
(¢) Nagasena (d) Kumaril Bhatt ) (¢) ST d) ZERE 7E

25. Charak Samhita is divided into how manyfi 25. =R wfed fha ramat iRk @i § fawiforg 22
chapters and sections? u :

(a) 120 chaptersand  (b) 100 chapters and = (2) 120 34T 3R 8 We(b) 100 34 3R 5 G
8 sections 5 sections _

(¢) 80 chapters and (d) 60 chapters and () 80 3T 3N 7 W (9) 60 3T iR 8 W
7 sections 8 sections

26. Which officer was known as ‘Bhagadugha’ during . 26 @ el UerRr & “FTgE’ B IRHR o7
Vedic administration? ( ; fawty,

(a) Messenger (b) Chief Officer of E; “ qgﬂﬁ sl ] St et
Forests 5—"_— od SICEaN
(€) Chief Officer of the (d) Revenue Collector (€) R AT BT e (d) RToRT IR O B
Gambling
Department - SRR : ST

27 Match list-| with list-Il and choose the correct, 27 gei—I &I J&A-II ¥ FHfera Ffdm Tem H1 Ry

answer using the code given below the lists — :.- R T I FE S i{ﬁ'ﬁ' -
List -1 List=1I L = —Il
(Archaeological site)  (Present location) - (3321% E)) (EI“?;I'H ®IT)
(A) Nevasa ' (1) Rajasthan 1 (A) arar (1) SIoT=Im=
(B) Isampur (2) Tamil Nadu (B) SHAYR (2) affrerrg
(C) Didwana (3) Maharashtra (C) SrsarT (3) TERTS:
(D) Gudiyam cave (4) Karnataka a (D) Tfeam™ T (4) BHlcH
Code - SO
(@) A-(3), B-(4), C-(1), D-(2) o a) A-(3), B-(4), C-(1), D-(2)
(b) A-(4), B-(3), C-(1), D-(2) & b) A-(4), B-(3), C-(1), D-(2)
(€) A-(3), B-(4), C-(2), D~(1) (¢) A-(3), B-(4), C-(2), D-(1)
(@) A-(3), B-(2), C-(4), D-(1) d) A-(3), B-(2), C-(4), D-(1)

28. Eastern boundary of the Harappa culture is 28. fam=ifaifad ¥ & #\ =eur Apic & gt i
indicated by which of the following? o1 e FHRar 27
(a) Harappa (b) Alamgirpur (a) ggwr (b) SRy
(¢) Rakhigarhi (d) Manda (¢) IrErTT (d) #TUST
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29.

With reference to the Puranas, which one of the

following statements is correct?

(1) Information about the Mauryan dynasty is
found in the Vishnu Puran. '

29

(2) Vayu Puran throws light on the Gupta’s Ci

governance system.
(@) Only 1
(¢) Both 1and 2

o

£}

i

(b) Only 2 4)

LU

(d) Neither 1 nor 2 g

RO B wed H, FrefaRad weEl # § B

HE 87

(1) fwp qRToT & A FEr @ AEERN) e €

(2) 9T GRIOT T[T G DT A IGRAT T GBI
STer 2 |
(a) daa 1

(c) ST 1= 2

(b) Paat 2
(d)Far 178 2

30. Which of the following pairs (School of Thought—  30. fer=fefad # & @9 &1 g (S99 — YaR®)
Proponent) is correctly matched? o 5
(a) Vaisheshika — (b) Mimansa — Kanada T &
Patanjali , (a) f¥HT — Teirfer  (b) HAET — HUG (F79)
(c) Nyaya—Gautama (d) Eat:;{: Mimansa — & (©) = — T S
e
31. With reference to the Captain Hawking’s, whicti] | 31. @ gffb~a & wed #, Fr=feriaa FAET H A
of the following statements is correct? o HIF AT L 87 ‘
(1) He came to India in 1611 as an envoy of ¥ (1) a8 1611 % ¥ —| & g @ ©U H 9Rd
James — 1. 3T |
(2) He was very well versed in Turkish language. (2) T8 gﬂﬁ WIST BT 9gd 3T =0T AT |
() Only 1 (b) Only 2 () Faet 1 (b) Baet 2
(c) Both 1 and 2 (d) Neither 1 nor 2 | (¢) gMFI 1T 2 (d) = or 197 & 2
32. Who was ‘Khareetadar’? € %2 waRR $F ar :
(a) Despatcher of royal (b) Main custodian of ;| (@) BREFAET BT o (b) IMEHES BT U
decrees royal palace e, EIIRSIPEaR HReTh
(¢) Chief Officer of (d) An officer who was (c) TR BT W (d) TR ST
Pargana trained in keeping AHER feame—fame #
accounts TdioT BIAT o
33. Match list-l with list-Il and select the correct 33 -1 B G-Il | Fafera MY der i
answer using the code given below the lists — & % - f3U U @ 9 |l SR gy —
List -1 Y T - |
Book & RASED
(A) Mirat-e-Sikandari - (A) FRTa—o—faa=d
(B) Burhan-e-Masir (B) REF—T—HIRR
(C) Riyaz-us-Salatin (c) Rars—sa—xatfad
(D) Riyaz-ul-Insha (D) Rao—S—3em
List ~ I T —
Context fowg
(1) History of Bengal (1) €A FT SfE™
(2) History of Bahmani’s Ahmad Nagar (2) TEAA] B IEASTIR BT e
(3) Collection of Mahmood Gawan'’s letters (3) wEHg Al ® g3 FT HUE
(4) Victory of Gujarat (4) ToRTa e
Code - ' He —
(@) A-(4), B-(2), C-(1), D-(3) (a) A-(4), B-(2), C-(1), D-(3)
(b) A-(2), B-(4), C-(1), D-(3) (b) A-(2), B-(4), C-(1), D-(3)
(¢) A-(1), B-(2), C-(4), D-(3) (c) A-(1), B-(2), C-(4), D-(3)
(d) A-(4), B-(2), C-(3), D-(1) (d) A-(4), B-(2), C~(3), D-(1)
[A-1-23] 153101 Page 9 of 32

WA R




34.

35.

36.

37.

38.

39.

40.

Which of the following is not correctly matched?
(a) litutmish — Father of Razia

(b) Shah Turkan — Wife of lltutmish

() Hamida Banu Begum — Wife of Allaudin Khilji
(d) Gulbadan Begum — Daughter of Babur
Consider the reign of following Peshwas and
arrange them in chronological order —

(1) Balaji Viswanath

(1) Bajirao |

(1) Narayan Rao

(IV) Madhav Rao |

Select the correct answer using the code given
below — '

Code -
@1, m,n v () 1,1, 1, Iv
© 1n,1,1v, M @ 1, n1v, m

Which among the following ruler of Kashmir
abolished Zaziya and Cow Slaughter?

(8) Shamsuddin Shah  (b) Sikandar Shah

(¢) Zain-ul-Abidin (d) Haider Shah

Who among the following translated 300
volumes of Sanskrit books collected by Firoz
Tuglag during the campaign of Nagarkot?

(@) Azizuddin Khan (b) Talib Amuli
(¢) Mulla Abdul Bagi (d) Mirza Muhammad
Ali

Tappa style of music was refined and developed
in which of the following Mughal Emperor’s
Court?

(@) Akbar (b) Jahangir

(¢) Shahjahan (d) Muhammad Shah

Which of the following (Poetess — Compositions)
is not correctly matched?

(a) Daya Bai—Vinay  (b) Sahajobai — Sahaj
Malika Prakash
. (¢) Gangabai— Ganesh (d) Son Kumari — Poem
Dev Leela of Swarn Beli

Which one of the following (Place of the revolt of
1857 — Start of rebellion) is not correctly
matched?

(@) Barrack — 29 March, (b) Meerut — 10 May,

1857 1857
(©) Lucknow -4 June, (d) Jhansi— 11 May,
1857 1857

34.

35.

36.

37.

38.

39.

40.

e & & o a1 wE gafera =g 87
(a) Segaffer — T & fodr

b) 31E b — Fegarmer H¥ Ul

(c) BHIGT 91 97TH — 3TATSEA Ractol @) Tt
(d) T[eraET H — FER B

fRfeiad deramsii & v el W) faER S

TAT I8 PIHHAMER FaRerd BTy —
EIGISIREEERIS]

(1) ISR |

(1) ARTIT 19

(MEICEECE

e T MY HE | w9 IR g -
@...

@1, m,n, v () i, 1, m, v
©) 1,1, 1v, 1 @ 1, n,1v,
F=rfaRaa % 3 o9k & by smas 3 S
3R 7Y BT BT gEE faar?

(a) IrRger v (b) Rypex wme
() Siger S (d) &5 e

ﬁﬂﬁr@ﬁﬁﬁﬁﬂﬁﬂﬁmwzkm
A & TRF AU 300 Wepd YD Pl

AT fear?
(@) reiggErq @M b) rfera R

(¢) e 3regel bl - (d) et S arelt
Wi o1 ewr el fmfakan & & 5w g

e & SR 4 uRpd v e gg?

(a) 3rHaR (b) STBTfR

(c) emesTEl (d) gemIg wE

frfafaa 4 & a9 (@aE - gwe) a@

gﬁrﬁ—ma@r%?

emmé fara b)ﬂ%ﬁﬁirrs‘—w

nTn'ens‘ Wﬂ‘méa(d)?ﬁ?fﬁﬂﬁ ot
I P BT

ﬁwr%ﬁqa#ﬁaﬁ:ftﬁﬁ(lasm%ﬁaﬁgaﬂm
— fasE &1 o) W€ Al TE &2 |

(@) kPR — 2991d,  (b) W — 107E, 1857
1857

) @@ — 45H,  (d) 3 — 115, 1857
1857

[A-1-23] 153101
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41. |n 1918, the United Provinces Kisan Sabha was 41 1918 & wgad Wid e &wT &1 o+ 4+
formed by which of the following leaders? ¥ fg Jar 7 fear ar
(a) Baba Ramchandra (b) Indra Narayan (a) qTaT RS A (b) g5 ARTor fgady |
() s i Sahj d (d E:Vij"e‘jih lal Neh (C)Wﬂ HPL e .l
wami Sahjanan d) Pt. Jawaharlal Nehru
Saraswati a A
42. \Which among the following organisations was 42. fafeiRaa # & @iar dwew Rl § aEwri
responsible for throwing a bomb at Viceroy Lord e BT R 99 B & v SoRerY on?
Hardinge in Delhi? a R b g‘ﬂ'l’éfé_e' Idifes
(a)_ All India Labour (b) United Patriotic @ ﬁ?’f o O .
Association Association :
(¢) Anushilan Samiti  (d) Yugantar (c) srgeirer wfafa '(d) YL
43. By which of the following Acts, the system of = 43. fay=ifaRad # & frw sffm gri, 120 Hewi
‘Chamber of Princes’ with 120 members was qrel TR ifE B @1 e @Y g of?
g;a?:d:t Act of 1853 (D) Act of 1793 bl i kst
arter Act o - SR
(¢) Act of 1909 (d) Act of 1919 (¢} 19097 () 191871
44. \With reference to the E.V. Ramaswami Nayakar, 44 41 YmRam 9ax & wed ¥, Frefaiad Hei
which of the following statement/s is/are ¥ Y S/ GE B /E?
correct? ; f e .
(1) He participated in the Non — Cooperation (1)@% o i e fomm
KovaiiaRE (2) SBM 1925 # HIUH BiS |
(2) He left the congress in 1925. 9 Ry W F & T PRS A S
Select the correct answer using the code given aﬁ-q =
below — —
Code - .
(a) Only 1 (b) Only 2 (@) Pad 1 (b) Baet 2
(c) Both1and?2 (d) Neither 1 nor 2 (©) ST 1 7T 2 (d) 5 o7 17 & 2
45. \What was the name of the female Regiment 45 <aTSil GWI¥ o< 99 ERT WG o ®Iv &
constituted as a part of the Azad Hind Fauj' by R ® w9 4 wfea afgar Wwe &1 Fa1 9™
Netaji Subhash Chandra Bose? ‘ ofT? '
(a) Rani Bhabani (b) Rani Jhansi (a) T T e (b) < sy W
Regiment Regiment
(c) Bharat Mata (d) Veerangana (c) W Arar o (d) IRiTEr e
Regiment Regiment
46. Who was the leader of rebellion in Bareilly, Uttar  46- 1857 ¥ aXefl, STk W9l & shifdl &7 =il B oA1?
‘Pradesh during 18577 (a) BoRT e (b) @ TETGR W
(a) Hazarat Mahal (b) Khan Bahadur Khan -
~ (€) Kunwar Singh (d) Nana Saheb ©) =R RiE (d) =TT TEd
47. Which of the following events was the last in 47 @lod @1 gfic & frafafea we-mi 4
chronological order? HFAT aifas of?
(2) Home Rule (b) Khilafat Movement (a) B e aiieles (o) Racimed siicded
i (c) wferararer T (@) e fasE
(c) Jallianwala Bagh (d) Moplah Revolt F
Massacre ol
[A-1-23] 153101 Page 11 of 32
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48.

49.

50.

51.

52.

53.

Who among the following women freedom
fighter was not associated with ‘Quit India
Movement’? .

(b) Aruna Asaf Ali

(d) Shanti Ghosh

Which one of the following (Tributary — River) is
not correctly matched?

(a) Matangini Hazra
(c) Kanak Lata Barua

(b) Hemavathi — Kaveri
(d) Pranhita — Mahanadi

(@) Manjra — Godavari
(c) Malaprabha -
Krishna

Which one of the following place is the
confluence of the river Alakhnanda and the
Bhagirathi?

(a) Vishnu Prayag
(¢) Rudra Prayag

(b) Karn Prayag

(d) Dev Prayag

Which of the following statements is correct

about laterite soil?

(1) This soil is developed in areas with high
temperature and heavy rainfall.

(2) It is poor in iron oxide and aluminium.

Select the correct answer using the code given

below —

Code -

(@) Only 1

(c) Both1and 2

(b) Only 2

(d) Neither 1 nor 2
‘Ozone 1ayer’ absorbing ultra - violet radiation
exists in which of the atmospheric layer?

(@) Troposphere (b) Mesosphere
(c) Stratosphere (d) Thermosphere

Make the pairs of chief rivers of their place of

origin -

Rivers Place of origin
(A) Yamuna (1) Sihawa
(B) Krishna (2) Nasik

(C) Godavari (3) Mahabaleshwar
(D) Mahanadi (4) Yamunotri

a) A-(4), B-(3), c-(2), D-(1)

(b) A-(1), B-(2), C-(3), D-(4)

c) A-(4), B-(2), C-(1), D-(3)

d) A-(4), B-(2), C-(3), D-(1)

48.

49,

50.

51.

82,

53.

f=foRag § & 19 afeer Wd=aar Y9 9Rd
BIST ASTAT | Hafdd 78] 27

a) AR BT (b) STHUIT IAH el
(c) PTep ofcT gwan  (d) wmifer =y
frfolad § & @19 91 (FeRd T4 — 74) T8
ghfera =& 87

(a) HRT — TMETasy (b) ZHTE — P

(c) ATl — M (d) groTfRdr — AEEd

frefolea & 9 59 WM W scgd-=<r T
arfRefy <1 fyerht &7

a) fwy T (b) <ot T

(c) ¥ wam (d) <9 g

frfaRad woMl # 9 oevse B8 @ fawg 9

B G HUF HEl 27

(1) g8 2 S=a Qs U9 9T 9ut drer & 8
fasfyg 8kl 21

(2)sﬂﬁ§rﬁaﬁgmmmﬁwﬁ
S g ST § |

Tﬁﬁﬁquﬂﬁ?}fﬂ%"rwgﬁq—
R_

(a)a‘a—cﬁu (b) Pt 2

(c) ST 10T 2 (daariardr2

RIS fafdRor &1 @eifa A gl e
R fhe argHsey wR H Rerd 87

a) & Aee (b) Hear Heal

(c) {HAY HSH (d) g #sa

ARG B Y99 Ffedl 9 S ST Riell B o
T —

At SEH WIS
(A) TgAT (1) Rgman
(B) Pwm (2) -Tfyep
(C) TeTaY (3) AEEAYaR
(o) HETAGT (4) T

a) A-(4), B-(3), C-(2), D-(1)
( A-(1), B-(2), C-(3), D-(4)
(c) A-(4), B-(2), C-(1), D-(3)
(d) A-(4), B-(2), C-(3), D-(1)

[A-1-23] 153101
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54. Given below are two statements, one is labelled 54 1 €1 ®od & R te &1 aifweE (A) 3R
as Assertion (A) and other is Reason (R) - W @1 BRT (R) HET 7T :_
Assertion (A) — The Tamil Nadu coast remains dry ;
during South-West monsoon affiper (A) — Sfeo-afed AR AR @
season. ' SR dfieArg ¢ Ieh 5 ¢ |
Reason (R) — The"TIamikhNadu c?ast is situate: HROT (R) — Hﬁm qe §Te A W) & I
parallel to the Bay of Bengal branc , ; :
of South-West monsoon and it lies & wATiR Rert 2 o < feror-ufem
in the rain shadow area of the HHYA 1 3RG AR BT & L
Arabian Sea branch of the South- Rerg 21
West monsoon during monsoon
season. Ry e e | W/ I g -
Select the correct answer using the code given e —
bel:W % (a) (A)|g & fg (R) Tod ©
Code -
(@) (A)is true but (R) is false (©) (&) e & g (R) ¥ 8
~ (b) (A) s false but (R) is true (¢) (A) 3R (R) BT W &, AfH (R), (A) Y W&
(c) Both (A) and (R) is true but (R) is not correct YRAT T8l B & )
explanation of (A) ‘ (d) (A) 3R (R) ST & ¥ 3k (R), (A) B W
(d) Both (A) and (R) are true and (R) is correct
explanation of (A) AT GXAT &
55. Which of the following statement is correct? 55. fp=ifeiRae Bl § | P9 AT e 87
(1) Ram Ganga river joins the Ganga at Kannauj. (1) "1; T A B B I T AL H fAerch
(2) River Betwa joins the Yamuna near Prayagraj. | ;
Select the correct answer using the code given (2) agﬂ TR SRATRISA % 9Tt T TG A e
i A1 Ry U e ¥ W@ SR 9P -
Code - =i
(a) Only 1 (b) Only 2 (5 BaeT 1 (b) Pae 2
(c) Both 1and 2 (d) Neither 1 nor 2 (c) Y 1 T2 2 d) = ar 19 & 2
56. Chandraprabha Wildlife Sanctuary is situated in 6. T==U¥T T=ISId FRIRVY TR ey & fbw Sug
which district of Uttar Pradesh? # fRerg &7
(a) Sonbhadra (b) Chandauli (a) AFE (b) T=_Telt
(c) -Baharaich (d) Lakhimpur Khiri (c) sExrsH (d) YR ER
57. Which one of the following (Passes - States/U.T.) ~ 57- fom=ifeiRad & & o9 &1 & (T — wog /o=
is correctly matched? e ueen) e gaferd 87
(a) Aghil = Arunachal  (b) Diphu — Ladakh (a) aifret — arovTEe (b) i — wRER
Pradesh am
(c) Niti — Uttarakhand (d) ﬁ:gz;Hlmachai (©) i — . @) Frr = S
58. Shivanasamudra and Kalpakkam are respectively 58 Ry vd demamd Hae: fba fog wewyr
important for - {4
(a) Hydel Power and  (b) Thermal Power and (a) ot wifda wa (b) TT9 FHoll Ud
Nuclear Energy Nuclear Energy ABE Fotl AT St
(¢) Nuclear Energy and (d) Solar Power and (c) TP Hwif vg  (d) ¥R wfdd gF
Hydel Power Nuclear Energy STeT 9TfeT AP Fott
[A-1-23] 153101 Page 13 of 32
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59.

60.

61.

62.

63.

Consider the following statements with

reference to Uttar Pradesh —

(1) Forests constitute about 12.8% of the total
geographical area of the state.

(2) The districts of Jaunpur, Ghazipur and Ballia
have no forest land.

Select the correct answer from the code given

below —

Code -
(@) Only 1 (b) Both 1 and 2
() Only 2 (d) Neither 1 nor 2

Which of the following (Port-Country) is not

correctly matched?

(a) Rotterdam -
Netherland

(¢) Montevideo -
Uruguay

(b) 1garka — China
(d) Jakarta — Indonesia

Which of the following statement is true?

(a) Benguela current-is a cold current of the
pacific ocean.

(b) If the sun, the earth and the moon are in a
straight line then this situation is the situation
of small tide.

(€) Ocean salinity is maximum at the Tropic of
Cancer and Capricorn.

(d) Tide comes on the earth every day after

exactly 12 hours 30 minutes.
The river situated along the border between the
United States of America and Mexico is -
(@) The Mississippi (b) The Rio Grande
(¢) The Amazon (d) The Colorado

Consider the following deserts and arrange them
in increasing order of their size (from smallest to
largest) — '

(1) Great Sandy desert

(1) Arabian desert

(1) Sahara desert

(IV) Gobi desert

Select the correct answer using the code given
below -

@ 1,1, 1v,1m
© v, 1,

®) 11, 1, 11, 1v-
(@, 1,0v, m

59;

60.

61.

62.

63.

IR U @ Hew A AmfaRad wumi R feR

PIfSTT —

(1) ST B Fel AIIeId &3 BT T 12.8%
CEl

(2) SR, TEAGR &R afern et & o a9
9 78 7|

= Ry U e 4 98 IR g —

'az\?'_
(a) Baer 1 (b) TFT 1 Tg 2
(c) BaeT 2 dadar1-ms2

P & ¥ P [@evme-te) ad i
TE ¥

(a) IexeH — Arevarvs (b) st — 99

(0) AT — Sow (d) SHT — SSRRRT

frfaRed § & oM a1 FUH 9 27

(a) ST FRIT AR $) Uh VST GRT B |

(b) Ife Jd, GedT T = U Wi # = o ¥9
ReIfa a1y R @1 Rufy 2

(c) ABARTRIY GVl $b Td Hax I@RIT T
HfrHaH B8Rl 7 |

(d) gedt WX wfafds &b 12 w2 30 e I WR
AT 2 |

T oG RGBT T AfFTHT 3§ G W)
Rerg w1 & —

(a) faffRrdy (b) Ry o

() 3rS (d) BrEARST _
f=faRaa Yaml w fer i e o=
I ATPR D 98 HA H IR BIY (Fed
BIc | 999 fawga a@) —

(1) Ic JvT AHRRIA

() erfaa= wowera

(1) TERT HHRIA

(IV) T Foverd

T QY Y g & 98 IR ghw —

@ 1,1, 1v, ®) 1,1, 1, IV

© 1, 1v, 1, 1 ) n,1,1v,1m
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64. To whom does the credit goes for the
development of coconut and sugarcane
agriculture in Philippines?

(@) French (b) Britishers
(¢) Hollanders (d) Spanish and

, Americans

65. Match list-| with list-Il and select the correct
answer using the code given below —

List—1 List-1l
(Mountain) (Countries)
(A) Kilimanjaro (1) Morocco
(B) Toubkal (2) Algeria
(C) Stanley (3) Tanzania
(D) Hoggar (4) Uganda
Code -

(a) A-(4), B-(3), C-(2), D-(1)
(b) A-(3), B-(1), C-(4), D-(2)
(c) A-(3), B-(4), C-(1), D-(2)
(d) A-(4), B-(2), C-(3), D-(1)
66. Which one of the following (Lake — Country) is not
correctly matched?
(a) Baikal - Russia (b) Michigan — United
State of America
(d) Maracaibo -
Venezuela
67. With reference to the “EL-NINO”, which of the
following statement/s is/are correct?
(1) El = Nino involves appearance of warm
current of the coast of Peru in eastern pacific.
(2) This warm current increase the temperature
of water on the Peruvian coast by 10°C there
by increasing the amount of Plankton in the

(¢) Onega - Canada

sea.

Select the correct answer using the code given
below —

Code -

(@) Only 1 (b) Only 2

(c) Both1and 2 (d) Neither 1 nor 2

68. What caused wind to deflect towards left in
Southern Hemisphere?
(a) Temperature (b) Coriolis force

(c) Magnetic Field (d) Pressure

64. fhcliure—r & TRaw T =1 &1 P fwm™ &
27 faadT Sar 87

(a) WBIgaTRIaT &Y (b) fae=arfal &1
(c) efctvsaf¥ai @1 (d) W+ U9
sRaearRar &
65. geli—I 3 A1l & ghfera Piorg an gl @
a1 Ry 1Y Fe | w8 S gAY —
- - Il
CER)) (<)
NEZIESIN (1) AREDT
(B) gddel (2) 3reatfRar
(C) et (3) o=
(D) BR (4) FTi=T
'qz\'a' -

(a) A-(4), B-(3), C-(2), D-(1)
(b) A-(3), B-(1), C-(4), D-(2)
(c) A-(3), B-(4), C-(1), D-(2)
(d) A-(4), B-(2), C-(3), D-(1)
66. fepferRad § & Pi=war (3 —<w) W& gafor
el 87

(a) §F1d — = (b) frefre — \gaw
I IMRET

(¢) 3= — wreT - (d) ARTEHTZET —
RN

67. “3ra— " @ wad F,
DI AT/ R B /87
(1) s ® gdf wen &9 H U B ¢ W
T GRRI &1 Yhe BT MAT B |
(2) T8 TH URT U® B T W UF P AUHA B
10°C d% dgT ool 2, ol 9qs # wided
®I AT 98 A 7
Hro Ry v e | wE SR ghY -
e —
(a) daer 1 (b) Haat 2
(c) SMI 1 Td 2 (d)s@r1ardr2
68. Ryl Tiome § war &1 9rfl IR ARt EW &
AT HRUT &7
(a) amgd™=

(©) dara &

fer=foRaa wom § 9

(b) PRI It
(d) 99

[A-1-23] 153101
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69.

70.

71.

72

73.

74.

75.

76.

Which one of the following is the largest coal
producing centre of Ukraine?

(a) Zaporizhzhia (b) Kharkiv

() Donetsk (d) Kyiv

‘Mount Newman’ is famous for which of the
follovgj_tag minerals?

(a) Irghore (b) Manganese

(c) capper (d) Bauxite

How many railways stations have been identified
for modernization under “Amrit Bharat Station
Scheme” in Uttar Pradesh as on February, 20237
(a) 57 (b) 82

(c) 123, (d) 149

Wher% was the “Sudarshan Prahar Army
Exerc@” carried out in December, 20227

(@) Ggjarat (b) Rajasthan

(¢) Uttar Pradesh (d) Madhya Pradesh

As per Social Progress Index, released in

. December, 2022, which of the following are on

top three positions in very high social progress in

Tier-l"{‘j)

(a) Pdntlicherry, (b) Mizoram, Himachal
Lalghadweep and Pradesh and Ladakh
Gao

(c) Ke‘;gla, Nagaland
and Meghalaya

The “NISAR satellite” is jointly developed by

which of the following organizations?

(a) ISRO and NASA (b) ESA and ISRO

(c) ESand NASA (d) ROSCOSMOS and
® CNSA

Accor&&g to the Union Budget 2023-24, how

many skill India international centres are to be

set up across different states to skill youth for

international opportunities?

(a) 20 (b) 30

(c) 40 (d) 50

Who is the Author of the famous Novel “All the

Lives We Never Lived”, which received the

Sahitya Akademi Award, 2022?

(a) Anita Desai (b) Anuradha Roy

(c) Shobha De (d) Sudha Murthy

(d) None of the above

69.

70.

71.

72,

73.

74.

75.

" 76.

1 # | gBHA BT I IST P UG B
DI W B?
(a) SRS (b) ETfhg

(c) SFewn (d) @1

Aeve A Frefoiad & 9 fow @faer @ forg
uRig 27

(a) e IRD

(c) raT _ (d) dfeTge

BREd), 2023 TF SR UL H AT WRA I
o1 @ d8d DG & fore fahas Yerd

(b) FTeir

TIAE BT I BT TS 87
(a) 57 (b) 82
(c) 123 (d) 149

fewaR, 2022 # “geuH yER W T HEf

foar T orr?

(@) ToRT (b) IreTeRITH

(c) ITR U= (d) e gour

feHeR, 2022 # S MRS WY YEdie &

IER femR—| # f=fafied & 9 o= afy s=

eyt # il N et w2

(a) wife=r, SterEia &R (b) fAiRw, e
rar Uy 3R FERG

() P, AMTICIvS iR (d) Iudaa # & 31

HETerd TEl
‘R Sure” frefaRaa § 9 & dreei gm
Hga wy 9 fefd far = 82
(a) g&xY 3R AT (b) Y. 3R FERT
() gy iR sMar  (d) IpEEE iR AL
R AN R

DRI qUIC 2023-24 T IR, ATRISERT IR
% forq garell &) $iere veH oA @ fo A
It H BT BT IRT RIS B wifdd
farg e

(a) 20 (b) 30

(c) 40 (d) 50

A PIGAT REPR, 2022 YT B Tl
g SU=E 3l § osed Y AR e @
TGP P &7

(@) 3T =g (b) 3rgRTENT M

(c) 3T @ (d) g #fes
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77,

With reference to mineral resources, which of

the following statement/s is/are correct?

1. Lithium’s inferred resources have been found
in Reasi district of Jammu & Kashmir. o

2. India is import dependent for many minerals%
like Lithium, Nickel and Cobalt. L

o
Select the correct answer using the code given™
ot

77.

@l T & gy ¥, EfoRad duE § 4

B AT/ T8 8 /87

1. SH-HR @& Rasfl e § ofem @
I T YoeR et €|

2. MRA e @fali g ofiftrm, e den
Praee @ Iy g w® R &

below — 0 A T T | |9 SR gy -
Code - e =
(@) Only 1 (b) Only 2 (a) aef 1 (b) e 2
(c) Both 1 and 2 (d) Neither 1 nor 2 () g 1 3R 2 (d) = & 147 € 2
78. In February, 2023 India’s biggest helicopter 78- TRadl, 2023 # YRA B HaW TS Belbiex AT
manufacturing plant was inaugurated in which Ha= @1 Sgured frEfaRed # 9 fha @ =
one of the following places? o B3I 17
(a) Chakeri, Uttar (b) Tumkuru, Karnataka {5 (@) T, SR yoer  (b) THER, BAlcd
Pradesh &
(c) Coimbatore, Tamil (d) Nasik, Maharashtra * (¢) BRigey, dfFerrg (@ TRich, HERTSS
Nadu
79. Who composed the Golden Globe Award winning ~ 72: Teed Tolld REHR faorar Ma A e D
song “Naatu Naatu”? JIATER & — ‘
(a) S.S. Rajamouli (b) M.M. Keeravani (@) TH.UH TATHIC (b) TH.UH.FHREAT
() Devi Sri Prasad (d) A.R. Rehman D (0 b N e (d) TN, YEAH
80. The Indian Biological Data Centre is being set upninr) 80. wRdm Sfd® se1 dg fbw wou # wenfud e
in which state? uoj T X&T 87
(a) Haryana (b) Punjab ) | (a) efRgrom (b) gSiTE
(¢) Uttar Pradesh (d) Gujarat (c) SR ¥l (d) ToRTd '
81. With reference to India’s G-20 Logo, which of the 8- ¥Rd & G-20 wiis e & w=d ¥ fA=faRaa
following statement/s is/are correct? FeE § W B A/ T B /8
1. The logo has lotus with seven petals. 3 1. ydfe fore § g ugfeat aren FEd B
2. The seven petals of the logo represent seveni ) 2. ydie fore @1 wa ugRedl | HEIEIT @
continents. & wfafere w21
Select the correct answer using the code given™ 1 f3d T3 e &1 W &R Hel SR HT I
below — PIfoTT —
Code - T —
(a) Only 1 (b) Only 2 (a) Haa 1 (b) Haa 2
(c) Both 1and 2 (d) Neither 1 nor 2 (c) g1 Td 2 daar1sra 2
82. Which of the following Scorpene Class 82 FrmifoiRad # & fFw wpidia Soft o vrgal Bl
Submarines was commissioned into Indian Navy S, 2023 ¥ AR AT 3 it fopar TaT?
in January, 20237
(a) INS Vela (b) INS Vagir @) ST A (0) JLTATH. TR
() INS Kalvari (d) INS Karanj () AETATH Perarl (d) AETATH. B
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83.

84.

85.

86.

87.

88.

In December, 2022 New Zealand passed the
world’s first Law to ban smoking for next
generation. New Zealand’s goal is to be “smoke-

free” by.............
(a) 2024 (b) 2025
(c) 2029 (d) 2030

Plane of which Airline crashed in Nepal in
January, 2023?
(@) Nepal Airline
(¢) Tara Airline

(b) Buddha Airline
(d) Yeti Airline

Who among the following has authored the book-

“Spare”?
(@) Prince Harry (b) Prince Williams
(€) Prince Phillip (d) King Charles

With reference to the Pope Benedict XVI, who
died recently, which of the following statement/s
is/are correct?

1. He was a native of Germany.

2. He was the first Pope to resign in 600 years.

Select the correct answer using the code given

below —

Code -

(a) Only 1 (b) Only 2

(c) Both 1and 2 (d) Neither 1 nor 2

With reference to the SCO Film Festival-2023,

which of the following statement/s is/are

correct?

1. The SCO Film Festival is being held during
India’s  Presidency of the Shanghai
Cooperation Organisation.

2. SCO Film Festival will showcase the films from
the SCO countries.

Select the correct answer using the code given

below -

Code -

(a) Only 1 (b) Only 2

(c) Both 1and 2 (d) Neither 1 nor 2

Who among the following has been named as the

Prime Minister of New Zealand in January, 2023?

(a) Jacinda Ardern (b) Chris Hipkins

() Cindy Kiro (d) carmel Sepuloni

83.

84.

85.

86.

87.

88.

fawaR, 2022 % =yuiels 3 el B @ fiw
EEUH IR Yfey oI 9T 399 &1 ggen S

uiRe fhar| gofiels & A& GEZ
gHIE o B 2 |

(a) 2024 (b) 2025

(c) 2029 (d) 2030

%), 2023 ¥ fH9 TaRezT &1 f{9E Jure §
GHCARIN gaiT?

(a) =uTel QIR (b) 95T TR

(C) TRT TIRATST (d) af gaEReTsa
frfefaa & & fras e geae fordr 27
(a) firey &9 b) fre fafera=a

(c) fi| fbfora d) f&T arcd

a9 §ARede wered, e g1 & # e g,

@ Wt FrefRed woE ¥ ¥ BN |/

wE & /8?7

1.98 §HA @ Tor fard o |

2. 98 600 991 ¥ SRI®T < 1ol U=l U o |

A el T e ¥ wd SR gt —

a‘,:d’_.

(@) ®aa 1 (b) Haer 2

(c) QY 1 wd 2 (d) 7 & 197 & 2

THAst e Wewa—2023 @ wf §

frefofaa womt § & &9 /¥ wd & /&

1. YO1E WEANT WIS Pl ARG BT rgery b
SRM Al fhew welcHe smafora fban
T VET & |

2. TEXN3N b weicwg & vl 3w 9
fre e i

T A T g BT UET wxe wE) SR B

TAF P —

az‘z'_

(@) ®aa 1 (b) ®aer 2

(c) g1 1 Tg 2 @=adariarar2
frfoad & & fRy S, 2023 % =rfidivs @
UFEA & WU # gAT T 87

a) Sif¥eT are+ (b) fopwr fRufrw

(c) REST fpxr (d) awrﬁaqqg;ﬁ—.ﬁ
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89. Which of the following cities of Uttar Pradesh is 89 SR We¥r & mfoiRaa ol # & @9 <1 ¥I=y,
not included as the venue for 11 meetings of 200 WRT &) ETLA] @ SRF G-20d 20093 § |
;essnsr\sggf G-20 during India’s Presidency of the 11 3551 & RT e @ w9 § e T8 &7

rouping?
(@) Agra (b) Varanasi @ (b) FRTUTRA
- (€) Kanpur (d) Greater Noida (€) PTYR (d) Fex TS

90. Given below are two statements, one is labelled 90- 1= 21 ®oH & RrH | a @1 Afdme (A)
as Assertion (A) and other as Reason (R): 3R T B! BRI (R) HET AT =
Assertion (A) -12 Cheetahs arrived from South AAHYT (A) - BRES, 2023 ¥ 12 o 1 =Ry

Africa to India in February, 2023. SfFeT § YRE ST T 2
Reason (R) - Re?torlng Cheetah. pc.apulatlonlls (R) - Hrdt @ NN 2
considered to be a priority for India. R i
Select the correct answer using the code given 8l
iy = W A T Fe | GE TR B TIT DG —
Code - L i
(a) Both (A) and (R) are true and (R) is correct (@) (A) 3ﬁ_\’ (R) TFI | & iR (R), (A) BT FE
explanation of (A) AT FHRAT & _
(b) Both (A) and (R) are true but (R) is not correct (b) (A) 3R (R) & & fb=] (R), (A) T &l A=A
explanation of (A) T8l PRal
(c) (A)is true but (R) is false (¢) (A) ¥ 8 fg (R) Tema &
(d) (A) s false but (R) is true (d) (A) 7T & fheg (R) & &

91. With reference to the Deakin University, whichof 9. Sifé fazafene & wwe #, F=foiRaa demi
the following statement/s is/are correct? HE P AT/A e /87
1.1t w.iII be th.e first Foreign University to enter 1. 98 TP o URER B ARIH 9§ WRd § Rl
g llrfd':‘j's &l ':d‘?‘?e"Mde:t casr:fr:& &Y grer uger fageh fawafiemer B

. It is being set up in Mahara 2 Ep—
Select the correct answer using the code given 2. % FERTS: H o e &
belows I A T He & T IR GE TR g —
Code - HT —
(a) Only 1 (b) Only 2 (a) Bad- 1 (b) Baer 2
(c) Both 1 and 2 (d) Neither 1 nor 2 (c) BFY 1 7g 2 (d) 7 ar 191 & 2

92. Which Indian origin businessman has been 92. WRWH 7ol & fore @awrl B WSAAD B T
elected as Mayor of London Borough of ’ R FT TR M IR I T 27
Southwark for the second time?

(a) Sam Dalton (b) Sunil Chopra (a) ¥ ST (b) itet <o
(c) Gautam Adani (9 Neeraj Patil - (@ T Srern @ Frwr wfess

93. On 25t December, 2022, which of the following  93- 25 fawmR, 2022 #1, fFr=fafad § 4 f&a <9
countries extended mandatory Military Services SRT 1 57as), .2005 @ §TE W= T 9._"7'5" & fare
for one year to those males who were born after
01 January, 20057 TP a9 BT A _ai Riar sifard Fe & TP
(@) Myanmar (b) Taiwan (@) =R (b) arsa
(c) SriLanka (d) Afghanistan (c) sfreieT (d) STHITRAT

[A-1-23] 153101 Page 19 of 32
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94." Among the following, which country has declared 94 2 ®vadl, 2023 &I, fr=ifalRaa & ¥ frg 2o 3
to remove the British Monarchy from its Central D §F B A BT A I ey woremd
Bank Currency Notes on 2" February, 2023? BT B Y BT BI? |
(a) Canada (b) Australia (a) FATST (b) airegferan
(c) SriLanka (d) Nepal (c) T (d) =gTe

95. On which of the following, proved charges the 95 fam=ferfad & @, fa fig 39 @ omR W
Finance Minister Nadhim Zahawi was sacked BRae), 2023 B fafeer warE w® e N
from the Government in February, 2023 by the AU WHR ¥ = 7 S8 &1 ger
British P.M. Rishi Sunak? 7?7 ;

(a) Disclosure of Secrecy(b) Sex Scandal (a) FAFTSS @Y (b) JF U
of the Cabinet ;ﬁmﬁwm HT A
(c) Tax Scandal (d) None of the above (©) éwﬁﬂéfm (d) STfe ¥ & P

96. Which of the following elements is not a Noble 96. fo=foilRaa & & &% |1 d@ Fga 7 T8 27
(ga)s? - (a) gt (b) et
a) Argon rypton
(¢) Radon (d) Actinium (©) R (d) it

97. Which of the following hormones is secreted by  97- f=ifeiRaa # & @iar gmie s & ohedw
the Beta cell of Islet of Langerhans of Pancreas? @ 3Mgeic B dieT A (@R FRT e
(@) Glucagan (b) Insulin BTl 87 .

_ (a) T (b) ggfera
(c) Adrenalin (d) Aldosterone BR el () TeeIEIR

98. Which type of vaccine protect against 98- ¥ UBR &1 ST AT I TomEr &7
SpiEnes (a) efervarss (b) wga afrs
(a) Toxoid (b) Live-attenuated
(€) mRNA (d) viral Vector (€) THIRTL (@) amRer d7ex

99 Which of the following is' mRNA vaccine used 99. f=iforRad § ® @5 & mRNA SR 2 Rrga
against Covid-19 infection? TGN PIfde-19 WhaoT B faog fhar mar 27
(@) Sinovac (b) Moderna (a) Rya® (b) Hgwn
(c) Sputnik (d) Novavax () wefa (d) Frardey

100. Which of the following factor is the most 100. fy=faiRa # & &9 W oRe Sa—fafduar @
important factor for the lost of biodiversity? & @ forg |aifte wewyrl aRe 87
(@) Genetic assimilation (b) Control of predators () srraifie (b) wrwfErl uv
(c) Destruction of (d) Pest control SHTCHHTHRIT _

natural habitat () Srpfers arer 1 (d) Pre FriEo
ERIN

101. The Xylem in plants is responsible for 101. ot % g™ uRasT & forw Ryer 2@r & -
transporting -

(a) Water (b) Amino Acid = GI,H () g ot
(c) Oxygen (d) Food (©) SferRfrSTT (d) 1o

102. Non-conventional energy sources are those 102 iR—uRUR®F Hwif WiT G & i fF —
energy sources, that are - - ; p
(a) Non-renewable (b) Renewable (@ R g 0 g
(¢) Produced from (d) Produced from heat (c) faeggaaifra € (d) ST €

electricity
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108.

104.

105.

106.

107.

108.

109.

110.

111

112,

Biological Oxygen Demand (BOD) is a standard
criteria for -

(a) Pollution assay in aquatic ecosystems
(b) Assaying O level in high altitude regions
(c) Measuring O; level in blood :

(d) Computing O; level in forest ecosystems

The aquatic plant commonly used as bio fertilizer
in the water-logged rice field is -

(b) Azolla

(d) Trapa

(@) Lemna
(c) Wolfia

Which of the following is known as laughing gas?

(@) Ammonia (b) Nitrous Oxide

(c) Carbon Monoxide (d) Chlorofluro Carbon

Seaweeds are important source of -
(@) lodine (b) Bromine
(c) Chlorine (d) Argon

Which of the following is an insectivorous plant?
(a) Nyctanthes (b) Nelumbo

(¢) Nicotiana (d) Nepenthes

Human heart is made up of how many chambers?
(a) Only four (b) Only one

(¢) Only three (d) Only two

What was India’s rank in the world greenhouse
gases emission in 20227

(a) gth (b) 10t

(c) 11t (d) 12t

A geographical unit that collects, stores and
release water is called -

(a) Watershed (b) Waste land

(c) Wet land (d) Water reserve
When did the Water (Prevention and Control of
Pollution) Act was enacted in which of the
following year?

(a) 1974 (b) 1975

() 1976 (d) 1977
Example of Lotic ecosystem is -

(@) Swamps (b) Ponds

(c) Rivers (d) Marshy area

108.

104.

1065.

106.

107.

108.

109.

110.

111.

112,

e sifeioq feaie () fFas

o7 U AFF AFGS &7

(a) STefrr ailRfRuftres o= & ugavr @ wirg & o

(b) Tzl Sate drdd & H i Bl S b
ferq

(c) Yga # ifRie= & W Y S B forg

(d) g7 uiRRufas o=f & siicRfivT & W @
U & foru

Selrg g Oy Wd wnfad ee B owd H

WI-JdRe D wY § YIANT H TR Wl B, 98

s

(a) o= (b) TS

(c) arfewar (d) grar

forafafad & 3 69 &0 e &= aeh 9 &

wY § ST T 87

(a) arfaT (b) Arggw SifeRATES Bl

(c) Frd=T AT 3RS (d) FARTART BIa- Pl
w1

He) Sare fad Aecayel | 8¢

(a) IFNSH & (b) ST B

(c) Tl B (d) 3t @
fr=fafad & & ®9 e Fiewed drr 27

(a) oy (b) regwa

(c) F@IfcaT (d) Sifera

Hd gad fhas AW (Fedl) @1 9491 8iar 87

(a) dad AR (b) BaeT TH

(¢) as = (d) daer a1

2022 % fagg ¥ M9 ey 6 & SIS ¥ ¥R
fpy v v e’

(a) gqf (b) 10df

(c) 11dT (d) 124f

U WIMfTe SHIE Wl U BT HeaT HRAl B,
WBRYT PN 2 Ud UM BISdl 8, S99 Bed & —

(a) STefamreT® (b) =l HfA
(c) amst f (d) urf &7 B

Sol @@um ud wgyr g sffEm @
fermfafaa # 9 v ad q=mar a7

(a) 1974 3 (b) 1975 #

(c) 19767 (d) 1977 #

afeds niRRafST 95 &1 SaEre 8§ -

(a) gorgd (b) ATATE

(c) =¥y ) (d) erers & (et
: - gRam
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113.

114.

115.

116.

1%

118.

119.

First National Centre for Marine Biodiversity
(NCMB) of India is situated at -
(@) Mumbai

(c) Bhavnagar

(b) Jamnagar

(d) Puducherry

Which among the following is a constituent of
natural silk?

(@) Phosphorus (b) Nitrogen
(¢) Magnesium (d) Potassium
Desert dwelling animals are called -
(a) Arboreal animals  (b) Terrestrial animals
(c) Fossorial animals  (d) Xericoles animals
Match list-l with list-ll and select the correct

answer using code given below —

List - | List - Il
(Diseases) (Factors)
(A) Peptic ulcers (1) Virus
(B) Dengue (2) Protozoa
(C) Elephant Foot (3) Worm
(D) Malaria (4) Bacteria
Code -

(a) A-(4), B-(2), C-(3), D-(1)
(b) A-(4), B-(1), C-(3), D-(2)
(c) A-(3), B-(4), C-(2), D-(1)
(d) A-(2), B-(3), C-(4), D-(1)

Trophic levels are formed by -

(a) Organisms linked in(b) Plants only
food chain

(c) Animals only (d) Carniverous animals
only

In National Parks, Genetic diversity is maintained

by -

(a) In-situ conservation (b) Ex-situ conservation

() Gene pool (d) None of the above

Hangul-deer is found in which part of India?

(b) InFAssam
(d) 1A Jammu and

(@) In Kerala
() In Rajasthan
Kashmir

113.

114.

115.

116.

117.

118.

119.

R DT Y2H T Hex BiR 79 Jrreganie]

(T gad) Rem & —
(a) gag ¥ (b) STHTR #
() HIgTR H (d) gg=dt #

frferRaa & | wifad T &1 @ ged
87

(a) BIEBIRE (b) AT

(©) F+fifdrm (d) g

AR # 3 HRA ATl WIHAR B & —
() gerardl SaR (b) werefla STFTaR

(c) faet g arer WA (d) FHfgHE AR

- BT A F gafera @ifrg T e Ry
T §HE BT YN RSP Fel SR BT gAa
BT —

gdr -1 g4 -1l
(caf®) (PrP)
(A) Uftess go7 (1) farsmor
(B) =7 (2) HreTSTraT
(C) Bt dfa (3) B
(D) FeifRa (4) famToy
azrc —

(@) A-(4), B-(2), C(3), D-(1)

(b) A-(4), B-(1), C-(3), D-(2)

(c) A-(3), B-(4), C-(2), D~(1)

(d) A-(2), B-(3), C-(4), D-(1)

MYF TR 974 & —

(@) @rer &g # widi(b) Haer drEl |
T Hag B 9

(c) Daet STl 4 (d) Saet AATERY T3l
il

I e A Mairtis fafdear &1 va—<am™

e ST & — :

() 37T, |=eToT gRT1 (b) Uara—Hie, WRETT g

() 3 gt g1 (d) Sfaa & & B Al

IR & fa 91T # B[A AW &1 7T urr s

87

(a) Ba H

() o H

(b) aregH #
(d) 9 3R HER H
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120. Which of the following is not a biodegradable

121.

122.

polluter?

(@) Domestic waste (b) Urine

(d) Pesticide

Which one of the following is not true about the
total outlay in the Union Budget 2023-24?

(@) Interest payment

(¢) Faecal matter

(b) State share of taxes
(20%) and duties (18%)
(c) Defence (8%) (d) Subsidies (9%)
Match list-l with list-ll and select the correct
answer using code given below the lists —
List- |
(Theories of Population)
(A) Optimum Population Theory
(B) Social Mal-adjustment Theory
(C) Demographic Transition Theory
(D) Population-Food Supply Relationship Theory
List - Il
(Propounders of Theories)

(1) Thompson

123.

124.

[A-1-23] 153101

(2) Malthus

(3) Edwin Kennan

(4) Henry George

Code -

(a) A-(3), B-(4), C-(1), D-(2)

(b) A-(2), B-(3), C-(4), D-(1)

(©) A-(1), B-(2), C-(3), D-(4)

(d) A-(4), B-(3), C-(1), D-(2)

What do we call balancing the need to use

resources and also conserve them for the future?

(b) Sustainable
development

(d) Reducing
consumption

(@) Resource
conservation

(¢) Future resources

Which of the following is not a sustainable

deveiopment goal targeted to be achieved by

20307

(@) Gender Equality

(c) Good health and
well being

(b) Zero Hunger
(d) Space Research

120. fofoRae & | $F @7 SIS ygud TE

- (a) =R emufdne

121.

122.

123.

124.

27
(b) 7=
(c) 7er uared (d) wres
B qoIC 2023-24 # FoT uRery F Fr=fiRaa
H W BN AT PUF e TET 27
() =TSt T (20%) (b) PRI TT edi H T
B WAENT (18%)
(c) z&m = (8%) (d) wfeasT (9%)
G- B -l ¥ gafera #ifvie ik A e
MY HE BT YN $HRd gU &l IR Ay —
g4 -1
(ST & Rigia)
(A) SUgaT ST Rigrd
(B) |WTIRTG SIS RigT
(C) STt wspHYT fgia
(D) SRR 3Mufel fagr
g -l
(Regici & ufares)
(1) LT
(2) AR
(3) vefaq &=+
(4) & St
ai‘e =Y
(a) A-(3), B-(4), C-(1), D-(2)
(b) A-(2), B-(3), C-(4), D-(1)
(¢) A-(1), B-(2), C-(3), D-(4)
(d) A-(4), B-(3), C-(1), D-(2)
TEARAT B SYATT T 9 P AU I e
DI ATILIFAT B AT B9 DI & FAT PHeal
g?
(a) HHEH HRET
(c) wiesr & wam=
Frfofag # 9 &9 a1 9ad ey &1 Jeg T8

2, for 2030 9% Ut H HT 1&g I@T AT &7

(b) waa faem™T
(d) @wag H & BT

() <iffres T (b) T g
(c) JreBT WG Td  (d) IfeReT I
EEIS]
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125. Given below are two statements, one is labelled  125- 19 @1 ®o= € fH | s o1 af¥ba (A)
as Assertion (A) and other as Reason (R) - e Tﬁ% BT BROT (R) FET T 3 _
Assertion (A) - Population control is necessary to .
maintain the environment of the AFAFU (A) - S B TR BT T @
country. & fore SEE =T e § |
Reason (R) - Due to the rapid increase in [ ) . :
populatio.n, the environmental fri T (R)- Syl 1% % S
balance is maintained. = e ST Ve ¥ |
Select the correct answer using the code given RO RID) e J 2 TR 'fjﬁf(! =
below -
Code - ; =
(a) Both (A) and (R) are true and (R) is correct - (a) (A) 3R (R)Eﬁ’rﬁ T € 3R (R), (A) B TE
explanation of (A) ;i RAT BT &
(b) Both (A) and (R) are true but (R) is not correct 'g (b) (A) 3R (R)THI W & g (R), (A) B FEI
explanation of (A) | “ T el HYdl
() (A)is true but (R) is false (c) (A) T & far=g (R) To0d &
(d) (A) is false but (R) is true (d) (A) e ® fg (R) 9T ©
126. What is the theme of the International Day for  126:2022-23 & forg T S & fou s
the Eradication of Poverty for 20225'23? oy o &1 fawg @7 27
(a) “Acting together to empower children, their g‘;f (@) "M g A B forw g=l, S99 uRaRi
families and communities to end poverty.” :;% 3R W’ﬁf P I T @ oY TH qRI
(b) “Dignity for all in practice.” g D WI . '
(c) “Accelerating global actions for a world (b) "EER F 0 & o TRe |
T ’ (€) "t & fomr gfar & AfRgs wral § i
without poverty. AT
(d) ”(-:onjun.g t.oge:her to end poverty and :‘;J; (@) WWWWW%WWW
discrimination. !n; ST
127. Role of Human Resources in Economic 127. amRfer faera # Hia WamM &1 AFEM & W
development, which of the following N T
statement/s is/are correct?
1. Effects of economic development on 1. e AT &1 ST gfg R Ui |
population growth. o e qﬁé’ T el Rem W T |
2. Effects of population growth in economic
development. o A T HE B AER W AE IR B AT
Select the correct answer using the code given #ifT — °
below -
Code - @c -
(a) Only 1 (b) @nly 2 (a) Baer 1 (b) e 2
(c) Both1and 2 (d) Neither 1 nor2 (c) = 1 3R 2 (d) 7 @ 147 & 2
[A-1-23] 153101
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128. When was the Census work done for first time in
India?
(@) Inthe year 1850  (b) In the year 1861
(©) Intheyear 1871  (d) In the year 1881
129. Match list-1 with list-ll and select the correct
answer using the code given below the lists —
List - |
(Sustainable Development Goal)
(A)SDG - 10
(B)SDG - 13
(C) SDG - 14
(D) SDG - 15
List- 1l
(Related With)
(1) Climate Action
(2) Life on Land
(3) Reduced inequalities
(4) Life below water -
Code - &
(a) A-(1), B-(2), C-(3), D-(4)
(b) A-(2), B-(3), C-(1), D-(4)
(c) A-(3), B-(2), C-(4), D-(1)
(d) A-(3), B-(1), C-(4), D-(2)

130. Who authored the book “The Challenge of Warld

R ateTall 2]

Poverty”? ‘(;
() Adam Smith (b) Gunnar Myrdal :{)
(©) Amartya Sen (d) Jean Dreze &

131. Which one of the following is the main objective
of Janani Suraksha Yojana?
(@) Reduction in maternal mortality rate only
b) Reduction in neo-natal mortality rate only,j_l
e

(
(¢) Reduction in infant mortality rate only
(d) neo-riatal

d

Reduction in maternal and

mortality rate

132. The “Agenda - 21” of Rio Summit, 1992 is related

128. 4RT H WO BT PR AdULH B9 bt T
or?
(a) 9§ 1850 % b) 9§ 1861 #
c) a9 1871 # d) a¥ 1881 #
129. 3l 1 &Il /Al SR aen gRet @
I o T e 9 9 SR @1 T S —
-l
(Faa e o)
(A) THSIS. - 10
(B) TH.SISH. - 13
(C) TSI, -
(D) TH.SISH. - 15
-l
(awafe)
(1) STerary foar
(2) S R Sfteq
(3) TR H HH
(4) UTit @ T P Sfig
) ﬁz\a _
(a) A-(1), B-(2), C-(3), D-(4)
(b) A-(2), B-(3), C-(1), D-(4)
(¢) A-(3), B-(2), C-(4), D-(1)
(d) A-(3), B-(1), C-(4), D- (2)
130. "5 Jefet it aes dradl” Wﬁa—aﬁﬁa@?

(a) veH fger (b) TR e
(c) s I d) s w1

131. fFfolad & 9 99 |1 S GRem AT B
T S 27
(a) Pael WY g & H BT

b) Bael FqaGITd g &% H HH
() Baat Rig 7g X # =+
d) A1 qog &% AT FIuld 9g & H HHI

132. oy RBrew ¥, 1992 &1 “Toie—21" Wafdd

to - g -
(a) Sustainable (b) Polluter — Pays a) Jad faea 9 (b) gg¥®d — YA
development principle Rrgia &
(¢) Environmental (d) Preservation of (c) yataxor fRem 9§ d) 39 wRa B
education ozone layer W e |
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133.

Consider the following statements about

sustainable development —

(1) Based on the global indicator framework and
data produced by National Statistical
Systems and information collected at
regional level, the United Nations Secretary
General presents an Annual Sustainable
Development Goal Report.

(2) Global Sustainable Development Report is

the quadrennial

sustainable  development  goal

deliberations at the U.N. General Assembly

produced to inform

review

once every quarter.
Select the correct answer using the code given
below —

. Code -

134.

135.

(@) Only 1 (b) Only 2
(c) Both1and 2 (d) Neither 1 nor 2

With reference to the Human Development
Report, 2021-22, which of the following
statement is/are correct?

(1) India’s rank on the Human Development
Index has upgraded from 130 in 2020 to 132
in 2022.

(2) India’s rank on the Human Deveiopment
Index has stipped from 130 in 2020 to 132 in
2022.

Select the correct answer using the code given

below —

Code -

(@) Only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2

Natural resources should be used by the present

generation in such a way that if there is minimum

degradation of natural resources, then what kind
of development would it be called?

(@) Economic (b) Social Development
Development

(c) Sustainable A
Development

(d) Organic
bevelopment

133.

134.

135.

wuroly e & wef # Frefaiad derl ®

faar sifsg —

(1) INad FGae wE a1 T qikED
gl §RT Uega U4 e MR W
Apford G & MR W Agd T
qerfyg U daiffe duncia e ae
a1 oga & @ |

(2) 4w Gureiy faem Rad & fmE 9y -
I HETWT W Tgaitie GuRey  faem
AT & fawa Bl gRIEded gq Ivdd B
o ¥ | '

4 Ry v @e &1 WA RS el SIR B

A BIfTY —

e —

(@) daa 1 (b) Bad 2

(¢) € 174 2 (d) =T a1 191 & 2

99 faera Ruid, 2021-22 & e ¥, Fr=faRaa

9§ BIAT T I & /87

(1) A fawr qadie § TR @ A0 2020 §
130 9§ I=Tcl B1hx 2022 H 1328 7§ & |

(2) ArFd faPTd HIHie F TRa I A0 2020
130 % 2022 % 132 9@ IR 7§ &

19 USH g &1 SUAN B Hel SR DI A

PIfIT —

'qze__
(@) Paa 1 (b) ®aa 2
(¢) FT 179 2 (dsFar1-m &2

dfad WEREI @1 Ia9H 9l §RT1 39 YR 4
SUANT fhar SiY & qigpfad ST &1 <A
&R0 &I, 1 I8 e ISR &1 e dearmm?
(a) amffe faara (b) o e

(c) wea fasrd (d) Sifde faemra
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136. With reference to ‘PM Gati Shakti Scheme’,

137.

138.

139.

which of the following statement/s is/are

correct?

(1) The PM Gati Shakti Scheme-National Plan was

launched in 2022.

(2). The PM Gati Shakti Scheme pertains to seven
engines (Roads, Railways, Airports, Ports,
Mass  Transport, Waterways, Logistics
Infrastructure). NIP will be aligned with PM
Gati Shakti Framework.

Select the correct answer from the code given

below -

Code -

(@) Only 1

(c) Both 1 and 2

Which of the following is not an economic

(b) Only 2
(d) Neither 1 nor 2

activity?

(@) Farming (b) Service

(c) Voluntary Social (d) Transportation
Service

With reference to the scheme wise allocation in

the 2023-24 Union Budget, which of the

following statement/s is/are correct?

(1)

Compared to the previous year, highest

percentage of decline has been recorded in

the allocation for MGNREGA.

(2) Compared to the previous year, highest
percentage of growth has been recorded in
the allocation for Jal Jeevan Mission.

Select the correct answer using the code given

below —

Code -

@ only1

(c) Both1and 2

(b) Only 2

(d) Neither 1 nor 2

By which year the target of population stability
has been fixed in India?
(a) Year 2045

() Year 2075

(b) Year 2070
(d) Year 2080

136.

137.

drom. foerfd aomr & wed d, Feforiad &

A DT/ HUF GE 8 /8P

(1) 9.H. TTerria—TST AT BT YERT 2022
¥ faan o) '

(2) WS SrEwREAT UIgy drgd (qTensdy) #
I SO (AS®, ¥, TIRUIE, §eE], o
WAR R, o At sk difies
EERaRl) & wdfta uRarerel fom. iy
wfdd g & |1 SIS S9 |

Frferfed fe & wél SR T+ —

oT —

(@) Badl 1 (b) Baat 2

(c) g1 131k 2 (d) T ar 147 & 2

frfaRaa & & &9 < anfdfe frar =& 22

(@) fHarT (@) (b) ST

(o) Wfte® Fae a1 (d) gRass

138.

139.

W qoic 2023-24 H AR & FFAR 3fde

& g H, T B A W e [/ e

GERVA |

(1) frod af @ g § TR ¥q omdes d
[aiferep T werdl gof @ T ¥

(2) fUwel ad @ gamm ¥ S ofig e gq
ardeq # |aite ufoed gfg <ol @ wh
gl

A9 A T He BT G RS GE IR B

=Y Piforg —

a?:\_d_
(a) Bad 1 (b) PadT 2
(c) M 13k 2 (d) g dar 14978 2

AR ¥ ST Wi &7 ey fbg af q@
FreiRa far w87
(a) af 2045 e
(©) o¥ 2075 a%

(b) a9 2070 aF
(d) 99 2080 T
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140.

141.

142.

Which statement is true for Finance Sector (Fiscal
Management) in the Union Budget-2023?
(a) Twenty years interest free loans to states.

(b) Fiscal Deficit of 3.5% of GSDP allowed for

states.

(c) Fiscal Deficit 2025-26, the target is to be
below 5.5%.

(d) Budget estimates 2023-24
expenditure is ¥ 55 lakh Cr.

for total

According to Economic Survey 2023 about

services, which statement among the following is

not correct? '

(a) Credit growth to services is above 16% since
July, 2022.

(b) 75 digital banking units announced for
transforming financial services.

(c) Fashion, grocery and general merchandise -

will be captured nearly two-third of the Indian
e-commerce market by 2030.

(d) pP.M.I. services witnessed strongest expansion
since July, 2022.

Which of the following is/are the type/s of

poverty? 3

140.

141.

142.

e goie—2023 ¥ fRim &3 # Reey
yaw) @ f¢ B9 W1 a7ed |el 87

(a) T} T 4 99 @ folg =Tl Had T |

(b) S Ta A, BT 3.5% SHNT €T DI IS
@Y A |

c) 2025-26 % T AT HIE BT 5.5% 4 =i
G & A |

(d) 2023-24 & gofc AFAFT § Bel AF 55 AT
FRIS I B |

Jarait @ IR ¥ anfie Tderor 2023 #, FA=feRaa

HUFT § § BIF G HUF Tl T8l 87

a) S[ellg 2022 ¥ HIST TS AT 16% | HR
gl

(b) 75 f¥fstea dfpm gHEal @ wmon faxi
Jaral BT gee B [T @ T B |

c) BYE, TS R TR "Eegd 2030 Td
AR §-FR aoR @ o & e
o & e W I |

(d) druH.nE, Faat § 2022 JE § GEH AOG
fawaR @ T |

=R & @ $ar/9 Fuaar $1/3 gaR
© /87

(1) Absolute poverty (1) T’f (o) foyefsar
(2) Relative poverty (2) T Pk
3) Subjective povert
:4; Funjctional povert‘:f (3) et ﬁﬁﬂ?ﬂ.
Choose the correct answer using the code given (4) GRS e
below — %mwfﬁ'\aﬁﬂﬁﬁﬁﬂﬁqﬂ
(a) Only 1 and 2 (b) Only 1, 2 and 3 (a) wael 1 3R 2 (b) ®aeT 1, 2 TG 3
(¢) Only 3 and 4 (d) Onlyland4  (c) Baet 3 ©d 4 (d) ®aet 1 U9 4
143. Which of the following (Scheme — Year) is not  143. fer=iferfRad ¥ P U @ - b)) §@
correctly matched? - gAfera e &7
(a) Deen Dayal Upadhyay Gramin Kaushalya (a) ¥ Tt SUEATT TTHIVT BT Fiofl —
Yojana - 2014 oy |
(b) Rural Housing Interest Subsidy Scheme - 2017
(c) Shyama Prasad Mukherji-Rurban Mission - i o m Hﬁ\q@ T — 2017
2015 . ()wrmwmg'@trﬁwzhﬁm~2015
(d) Sansad Adarsh Gram Yojana - 2014 d) wiae areet T AT — 2014
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144. Which of the following scheme/s is/are related to

145.

146.

147.

148.

149.

150.

Uttar Pradesh?

(1) Anuthee Uphar Scheme

(2) Matra Shakti Udyamita Scheme

(3) Kaushalya Matritva Scheme

(4) Stree Nidhi Scheme :

Select the correct answer using the code given

below -

Code -

(@) Only 1 (b) Only 2

(c) Both 2and 3 (d) 2,3and 4

Which of the following Scheme/Programme is

not the Central Government Programme and it is

Uttar Pradesh Government’s Programme?

(@) MGNREGA (b) Gramin Swasthya
Mission

(¢) Ganga Expressway (d) Pt. Nehru Utkarsh
Mission

Who has written the book “From Dependence to

Self Reliance”?

(a) Y. Venugopal Reddy (b) C. Rangrajan

(¢) Raghuram Rajan  (d) Bimal Jalan

Which of the following is known as “World

Wetlands Day”?

(@) 10 January

() 1 February

(b) 15 January
(d) 2 February

World Social Protection Report is published by - _

(b) World Health

‘ Organization

(¢) International Labour (d) World Economics
Organization Forum

In which year, “Mid-day Meal Scheme” was

renamed as “P.M. Poshan Scheme”?

(@) World Bank

(@) 2018 {b) 2019
(c) 2020 (d) 2021
Which of the following (Union Budget

Departments 2023-24 - Allocation amount

approx. ¥ ) is correctly matched?

(@) Ministry of Health —X 89,155 Crore

(b) Dept. of Health and Family Welfare —¥ 80,000
Crore

(¢) Dept. of Health Research —¥ 9,155 Crore

(d) Pradhan Mantri Jan Arogya Yojana — ¥ 5,000
Crore

144,

145.

146.

147.

148.

149.

150.

e # & o < e/ SR ey 9
et g /87

(1) IS SUBR AT

(2) =rgefaa SEffar areeT

(3) PRI WA IS

(4) = [ TS

99 T 77 Fe § 98 ISR g -
qc"_

(a) Baet 1 (b) Baet 2
(¢) TFY 2 iR 3 (d) 2, 3 3R 4

frfaRad § & &9 91 BRIBH Barl WHR
BT FRIHH T8 € AN IE SR WS WHR B
IS 87

(@) H=RAT (b) TToT @Ry g
(c) 77T TTu I (d) ufed -E® Sy
ATSTAT

(b) 31, TR

(a) T8, JUETHT ¥

(c) YR TST (d) fawer SArer

9 § 9§ @9 w1 fAgg decivey fRaw” & wu

H ST ST 87

(@) 10 STy (b) 15 a1

(c) 1 wHYa<r (d) 2 R

faea wmTS wReror Rurd g1 & ol & —

(a) favg & gr~r (b) fIeg @Ry S

gNT

(C) SITIRTSERT 817 (d) faeg anfeie w9 grT
TITeT g

“HeTE W IS B GLOHE. 99T O o

e af gmifaa fasar Tar

(a) 2018 # (b) 2019 #

(c) 2020 # (d) 2021 #

frfoRad § & &9 F (@19 qoie fam

%023-24~Wﬁﬁalﬁﬁﬁ?ﬁl?)ﬂ%ﬁﬁﬁ%ﬁ

)

(a) Wy HATAT — 89,155 TS 3T

(b) Wy Ud URAR HT HATHY — 80,000
Frs T

(c) w@ey 9l fq9mT — 9,155 Bere T

(d) gE=HAT 99 IR =T — 5,000 RIS T
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% ST9 e 3MID! g GXIeT9T GRABT @i Pl 7 HEl oY a9 ab 7 @i |

2023 @ : JULIET-2-24 | §'§

favg : AENT gIT-11 5

BN “§>;

g

i

|G ;2 ¥ | Ui : 200
3UT STHHIG WA dfa & il o
o o =t

e ® IR @ ford Sad Plel dfa—wige 99 BT TR H | _
aneff STR—UFF T IR o W Ugel Gl SR B HaEdS g o |
JTIP! T T SR DAl SUR—UAP UX 8 & © | WET & S StR—931@ 31 qo1 Ui Foee &1 | < |

He<dyol Sgael
1. it gl & SeR < | o) vl & 3 WA | |
2. TR-TFF W refl e WEl i, fauT, UeE-ua &1 §El Bis vd Wi Sifha oY e STR-uTd 3
qeie el frar S ok Swa! e wd srgedl @t gnft|
3. &9 weor gRa@T F 100 T B | TS U B AR (4) IPfovd SR UEH @ 91d f[{Y Q¥ | 59 A A | dae
U% B WEl IR & | O IR @I MY wWEl A1 99w SR GHed §, StR-UA® H SuP R ad g Bl Pt
dfe—dse U9 | IR Bl X < |
4. IIEHHIG B IMATAT GRET IRAPT B AR U9l R {o 7 ford | I HRI B forg wdheror gt & oa § fg v
31 BT BT AT N |
5. ue gRasT A we (U W 1 W 40 @ Ryarg) sl 9 =D <A wnwneht # gfta € Bvmd (R=h /siueh) #
et Y sreasear & Al H, ool AweRer yWdl B |
6. WRET JRAHT Wie B g3 918 Gifd B 9@ o (6 T RasT & 9T U Well—Hia BY §Y § | afe gRErT
R § B3 B 81, a1 Fes B Raes S0 A 9 o 31 g@d g gRast urw wR o |
7. T SR @ fog gUS ¢
TR § IRigaR gRT RY MY Tord SRl @ fog gus R wmgm )
C (1) v T @ Y AR dafeud SR € | SHICIR ERT u9% e @ o 3y Y ue e SR @ fg wee
=g faa By 1y siet &1 yo-fieE gvs & wu #§ @rer smen|
(i) af ®IE IFNEAR @ ¥ e STR <aT 8, O $N Terd SR A= e, e Gy v ST § W e
IR Al B ©, R 99 ue & fo SugeargaR & S ORE @ gvs faar sme |
(ill) I SHCIR gRT DS U B 7T&] fhdT T & eI SHIGIR §RT 90X 78l (QdT oiem €, °f 99 99
& fore ®id que wEl R se |

e dF AUB! I8 T GRAST Wiew BT 7 Hel 91¢ a9 a7 @i |

Note: English version of the instructions is printed on the back cover of this Booklet.
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1. ffafed § w8 favm fore 9 gaa a9 &1 9919 $iferg —

(a) gAY, Al 98 T IE 7 | (b) wH! wewor! AR e R ¥
C) XTHRY MER—IT0Y & | (d) @7 3y BRER W AT B & |
2. "Ryenferert 3 He@! Suferd &R & Aoy fear 8 # 39w ar=g 27
(a) 4 @ (b) &g ar=
(c) P4 Td &g (d) Sudad § & P T
3. fy=forRaa arei # & 98 argw gy e wdaTae f&aReer’ &1 ganT fear @ E —
(a) 9% 9gd A B | (b) TE Adsl AT SufRerd o |
(c) dfa <frex qu @eaT| (d) g 3TeHY I IET B
4. It § - G 87
(@) Tor wf (b) gfg <
(c) Jor Hfer (d) 3rfe Hfer
5. oM wIesl ¥ B BT BYAT AT BT URIT WY, T —
(a) ferar—fasigor wed & (b) WA FEd &
(c) fobar wea & (d) argef forar ded &
6. aprefl weg ‘WNIT BT H 0 Ud 3] TE B, 98 B —
(a) @A (b) wfEHm
(c) fauzs (d) <9@
7. T 9 vl &1 wEl g B —
(@) IMHT-THRT ‘ (b)  rcgS—3ras
(€) FE—S9E (d)  veraR—<Ed
8. fyfafed # te we—g™ wxEdl’ F1 yAigarE T8 8 -
a) ga-faxoy (b) fART—dTomTUTfor
(¢) wIRg—arfren (d) HRA—aref
9. fymfoRag & & SIFRN Sipifda ameifes ef |t el 22 :
(@ S qrel |1 ©l BT ST — FEHI (b) TH BT 96 WA & — ﬁwwaﬂma‘l
(c)‘g'\'%m‘ﬂwﬁaﬁ?mm% wifeE (@) off oy, 6 | WY — & & aren
[
10. 399 9§ HI9—H dq9d e 57
(a) IEdR (b) 3R
(c) 3mure (d) a1y
11-aﬁﬁmﬁﬁ®§aaﬁmm%—
(@) IRIa (b) retieTd
(c) quIR : (d) TR

frceT ues w=T 12 9 16 @ forw —
ﬁw%f@awmaﬁmﬁﬁquwuﬁmam%www%wwﬁﬁw—
"EX U I AUAT WIHMT & 97 TR B Wiy Hal 2 | AiRpfoh OREX & ARGT ¥ & 98 191 o

I, ST, =T AT AT 91 Gehal & | Rl AR Gepfa § afie wrwr g gy o 3w 2
SHET P A TAT I 941 DI AR BT A WPIa & N 9 FrERN I U g gomel) @
T gl © | e g @ sinifoe aRRefaat &1 i SHe Wi )y gsar 21

12. TTEITET HT Hel YD & —
(a) wrg & faer § @wpfa &1 arTeE (b) g & fRAwrT § Fwar &1 IS
c)wa%ﬁiﬁmﬁwf?fiﬁrm A <1 B fem § RRGRT &1 arem

AT TS0 e AR



13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

24,

25.

I e @ 99 R W BRa 27

() Wit & 9 W) (b) FHaT B T W

© wfid & 90 w) (d) Gl & 9 W

e # R v &1 wAnT T 20

(a) <pfey (b)  wpfey

(c) Awrar (d) gRRefy

TS M B H&pia a8 B —

(@) Hrmfers aRRefet w +f felk e 2 (b) efrenfis gRRufea wr & Ak &t &
(¢) Pemrd gRReIfT ox o ek Bt 2 (d) STe F ¥ IS &

T 3R WPl H —

(a) dad Tfss T & (b) Haer IR B ,
(¢) I =T TE B (d) =frs ww== 8 gy o ofar @
fawfaa dael g g 78 & —

(a) 3=t |afay (b)  3mU@T WAL

(c) oI Bl (d) 3BT |GUANT

AR 3 W R 9ol @Y SuNTeT @ siia s 87

(a) gl (b)  Hredy

(c) Trearelr (d) BIaTer

"I e e ¥ g g8 27

(a) IR ATHT | (b) 3rg AFTER rUHI |

(c) ATTER SruwEr | (d) SwdeT d | PIs el
frforaa & & gg T & — '

(@) #fiFwr & sMBT AH & |

(c) BT 9 WE=HEA B AWHe 9F Y fhar|

(b) =i & FE T F |
(d) wrfec @R SfigT &1 81R Hae 2 |

fre=foRed # 4 59 tF 999 & Ua e § o-avt g gy 27

(@) SHiTR & U a1 Ryurd o |
(c) gu e Pem & ued |

Breforfad # & F—ar e qeEw E ¥

grer gHa AN a7 3ref § —
(a) o1 § 8T

(c) gfgam™

T BT qATIAE] e FE) & —
(a) wifiRer

(c) zfqar

et () &1 SR wWE § -
(a) FHvgy

(c) dreT™

(b) ¥ oiHT B e fora|
(d) T ASTERI BT MYV H 8 |

(b) &5
(d @R

(b) ek

(d) IER B

=2

(b) frgerm
d) Tg=er

(b) 3
(d) srgeTRI®
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26.

27.

28.

29.

30.

31.

32.

33.

Instruction for the Question Nos. 26 to 30 :

Read the following passage carefully and answer the following questions that follow:

We in India have our own special problems. No one can deny that some of them are of a serious nature
and must be attacked with vigour and determination. Our national objectives have been defined clearly.
We aims at providing every citizen with the basic necessities and complete freedom to lead a life of his or
her own choice. We aim to create a democratic society, strong and free in which every citizen,
irrespective of his religious beliefs, will occupy an equal and honoured place, and be given full and equal
opportunities for growth and service. We aim at ending untouchability and doing away with the present
inequalities of status and wealth. We are opposed to the concentration of wealth in a few hands.

This passage could most probably be a part of -

(@) The Indian Constitution (b) A book on Political Science

(¢) A Speech ? (d) A Personal Letter

According to the author our national objective %éo -

(@) create unequal opportunities for all. (5\3 (b) promote individual freedom and prosperity.

(¢) end economic prosperity in the country. (d) favour the concentration of wealth in a few
hands.

Pick out the wrong statement -
(@) The problems of Indians are like anyone else’s. (D) ~There is no uncertainty about our national

)
% objectives. _
(¢) Some of our problems can be handled onty@' (d) Our goalis to build an Indian free from
strong people. . 8 economic exploitation.
The underline word in the passage ‘vigour’ means -
(@) physical tension (b) * forcefulness of language
(¢) loose temper ' (d) force
What is the synonym of the phrasal verb ’doing@vay with” used in the passage?
(@) abolish {% (b)  doing with
(¢) remain forever é% (d) create

N
Change the voice and select the correct passive voice from the given options -
Someone gave her bull dog.

(@) She was given a bull dog. (b) A bull dog was given to her.

() She has been given a bull dog. L0 (d)  She is being given a bull dog by someone.
Fill in the blank with the appropriate word give@?elow.

The Air India............... concessional tickets these g?ys.

(@) isissuing N (b) issues

(€) issued (d) have issued

Transform the following simple sentence into complex sentence -

He admitted his mistake.

(@) He admitted that he was mistaken. (b) He admitted to making a mistake.

(c) He admitted that he was making a mistake. (d) He admitted that he had made a mistake.

R S R



34. Select the correct indirect speech of the given sentence -

35.

36.

37.

38.

39.

40.

| said to him, “Let us go out for a walk.”

() |suggested him that they should gooutfora  (b) | requested him that we should go out for a

walk. & walk

oD

(€) 1told him that they should go out for a walk. }8 (d) 1suggested to him that we should go out for a
!
E\J walk.

Which of the following is correctly punctuated? . |

What a beautiful painting did you paint it.

(@) What a beautiful painting did you paint it. (b)  What a beautiful painting -did you paint it!

() What a beautiful painting: did you paint it? 2‘3 (d)  What a beautiful painting! Did you paint it?
(@)

Choose the correct word which is opposite in mea@hg of the given word.

Recede &

(@) Rush (b)  Advance
(c) Approach o (d) Forward
Find out the misspelt word - '

(a) seize ' é’j(b) decieve
() believe :jcg (©) reign

Choose the correct one which best expresses the ﬁéaning of the phrase of the underlined words -

I am like a cog in the wheel of this company.

(@) atechnician (b) the least paid employee
(c) animportant person Z‘% (d) an unimportant person
Choose the correct word which expresses the meallci;n}ing of the underlined word of the sentence given
below - ™N

Deepak has a penchant for fine poetry.

(@) Desire (b)  Bias

(¢) Liking (d) Training

Consider the following statement and choose the correct option -

The Dash is used -

() Toindicate an abrupt stop or change of thought

(Il) To resume a scattered subject

(@) Only (1) (b) Only (11)
(¢) Both (1) and (I1) (d) Neither (1) nor (1)

e AT et O




41. Find the odd one from the given alternatives - 4. R W el # 4 favm gfg —
(a) AXcz (b) JOKQ (@) AXCZ (b) JOoKQ
(c) TBVD (d) FRHT (c) TBVD (d) FRHT

42. Blind and not blind is an example of - 42. 3ferr 3fR I 98] UH IeNTT ' —

(a) Qualitative data  (b) Quantitative data (@) TUTHS THD (b) HE=ATHD HHS
(c) Both (a) and (b) (d) None of these (©) (a) SiR (b) T (.d) $ W PR

43. Which of the following is determined with the 43. 3maa o 1 & 9 fows FuRor § e
help of histogram? Far 87
(a) Arithmetic mean  (b) Median _ (@) =R A (b) wrfSarenT
() Mode (d) Harmonic mean (c) 981D (d) ETH® ARy

44. 11 observations are arranged in ascending order. 44 11 UeT0li &I RISl HH H FARIG fHaT AT 7 |
If 10 and 9 are respectively the arithmetic means afg 10 Td 9 HHI: 99 9 fIuH wEl W e
of observation on even and odd places, then the qret YUl & FHIOY AT &, o7 9T 11 el &
mean of all 11 observations is - ey g —

(a) 9.50 (b) 9.48 (a) 9.50 (b) 9.48
(c) 9.45 (d) 8.63 (c) 9.45 (d) 8.63

45. |f the area of the base of a cone is increased by 45 IS & ¥ & AR &1 &AFBA 100% FT 37
100%, then the volume is increased by - SR, d 99 A ¥ gy snil —

(@) 200% (b) 141% (@) 200% (b) 141%
(c) 182% (d) 100% (c) 182% (d) 100%

46. The semi diameters of bases of two cylinders A 46 T 9o A TT B & IMRI & IS 3:2 B
and B are in the ratio 3:2 and their heights are in U H g T S HamAl n:l & U H
the ratio n:1. If volume of cylinder A is 3 times of 8| I 99 A BT 3T, 99 B & A Bl
volume of cylinder B, then value of n is - 371 81, o n BT A BT —

(@) 3 (b) % (a) 3 (b) %
2 3 2 3
(c) 3 (d) 2 (c) 3 (d) 2
4 3 4 3

47. f the radius of a cylinder is increased by 25%, 47- Afe 9o @1 AT § 25% @1 gfg X & WY,
then by how much percent the height must be ar S & fras gfieR gern o R 3o
reduged, so that the volume of the cylinder - Raffa <27
remains same?

(@) 36 (b) 42 (a) 36 (b) 42
(c) 58 (d) 62 (c) 58 (d) 62

48. |f both the square root and the cube root of a 48 afe fasft = afal areht Ipfad =1 S 3171"'1?—!
three digit natural number belongs to the set of g Ul T 8 UIplie R & W &
natural numbers, then the sum of its digits is - e B, A W& B 3BT BT AT T —

(@9 (b) 10 (@9 (b) 10
(c) 18 (d) No such number (c) 18 (d) @1 U H=T
exists faerm 98 &

49. HCF of two numbers is 25 and other factors of - 49- T HERN &T HCF 25 8 TAT SUP LCM & 3T
their LCM are 14 and 15. Sum of the numbers is - TorETs 14 3R 158 | FE=ARI BT AT B —

(a) 700 (b) 725 (a) 700 (b) 725
(c) 750 (d) 775 (c) 750 (d) 775
Page 6 of 16
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S0. Choose the set of numbers from the alternatives ~ 50- fawedl % @ sidi & W= BT gAY W G
which is similar to the set (6, 36, 63) - (6,36, 63) @ WHHT & —

(@) (8, 64, 46) (b) (7, 49, 98) (a) (8, 64, 46) (b) (7, 49, 98)
c) (94, 44, 5) d) (11, 111, 84) (c) (94, 44, 5) d) (11, 111, 84)

51. |f the LCM and HCF of two polynomials are (x+1) 51 aIfy &7 9gUcl & LCM 30R HCF I (x + 1)

(x> + 6x + 8) and (x + 1) respectively and one of (x +6x+8) TAUT (x+1) 8 3R I7H ¥ Ud 98U
the polynomial is x? + 5x + 4, then the other is - X2 +5x + 4 1, T GO 9gUG & —

(a) x2—3x+2 (b) x2 +3x +2 (@) x*-3x+2 (b) x? +3x+2

(€) x2+2x+3 (d) x2—2x+3 (©) x2+2x+3 (d) x2-2x+3

52. If after selling 30 pens, the seller observes the 52 IfE U& fAdar &1 30 e =9 @ a1 10 FoH}
profit of sell price of 10 pens, then the profit @ Ay g1 &1 arq BIAT &, A & &1 ufaerd
percentage is - g -

(@) 33.33% (b) 50% (@) 33.33% (b) 50%
(¢) 66.67% (d) 200% (c) 66.67% (d) 200%

53. If two dogs start running in opposite directions 53 ufy 7Y FT UH 7. AN drel PR U W
on a circular path of diameter 7 m with the speed fawda ﬁ'{’ﬂaﬁ H 2.5 /Fbvs vd 39 /APUe
2.5 m/sec. and 3 m/sec., then how long will they P AT F I ARY PR 8, o Aug A
take to be at maximum distance? AferpTd R B A S fhaen wwa e
(a) 1 second (b) 2 second (a) 1 9HUvs (b) 2 Apvs
() 3 second (d) 4 second (©) 3 9HUs d) 4 dBpvs

54 If X men complete a work in 40 days and after 54 IfX X e B B B 40 A ¥ q1 IR &
adding 5 extra men 10 days are saved, then 30 IR 5 faRad st v ¥ 10 fRAT @ =a
men will complete this work in - Il 8, 1 30 S 3/ HH BT QT BT —

(@) 40 days (b) 30 days (a) 40 fe=T # (b) 30 &7 #
(©) 20 days (d) 10 days (©) 20 f&=T # d) 10 fe=i 4

55. Three numbers are in the ratio of 3:4:5 and their ~ 55 T &I T S 3:4:5 8 Td I8 HCF 3R
HCF and LCM are 40 and 2400, respectively, then LCM $hHST 40 3fR 2400 € a1 S8 a9 ¥
the largest number is - & B -

(@) 40 (b) 200 (@) 40 (b) 200

() 240 (@) 360 (c) 240 (d) 360

6. Assertion (A) - Interpersonal attraction is a part ~ 56. aifieer (A) — siddafdas ST AR
of social interaction. 3AfHAT BT TH 91T 2|

Reason (R) — It is necessary for survival. SR (R)— TE Wﬁﬂﬁm ég AMTTF 2 |

(a) Both (R) and (A) are (b) Both (R) and (A) are a) (R) 3R (A) g () (R) 3R (A) THT
true and (R) is true but (R) is not g € 3R (R), (A) a2 fag (R), (A)
correct explanation  correct explanation P el AR FIAT D] Fal AR &l
of (A) of (A) # EaGIl

(©) (A)is true but (R)is (d) (A) s false but (R) is (€) (A) | & =g (R) () (A)7Tea ® fag (R)
false true Tad & g '

57. Which communication network promotes an  57- 37 W 9 91 WOR dF A AT 7 v @
individual to communicate  confidential T JAfTBEN AT 99 Nl IFNT &l
information only with his immediate superior or TR Gehll 2 &Y Seo <qr 27
subordinate? ; ;

(a) Gossip — chain (b) Cluster — chain (@) TToRI — el (b) wE - ATl
() Wheel — chain (d) Single — chain () =P — Ao (0) gaper — s
[A-2-24] 153102 . Page 7 of 16
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58. Given below are two statements, one is labelled 58 =@ &1 ®oF & forad & & &1 ifida (A)

as-assertion (A) and other is reason (R) — ailk a;\q% BT BROT (R) BT TIT & —
Assertion (A) — Oral communication is a useful s (A) - AREF TAR T ITIET HER
channel of communication.
s T AT B |
ReasonugR) — Because oral communication has no L i fort
5 proof what has been communicated. PR (R) " Wﬁqg ?%:r: el
lsjillzi\t’ %e correct answer using the code given S Re Mo he X e T{ﬁ’;’ 55
£ 3R (R) 9 (D) (A) 3R (R) SHI
(a) Bottr(A) and (R) are (b) Both (A) and (R) are @ (A) R (R) ( A
true and (R) is true but (R) is not W 3R (R), (A) W & ﬁﬁj (R), (A)
correct explanation correct explanation P Y AT AT DY A AT Tl
of (A) of (A) g FY &
(c) (A) s true but (R)is (d) (A) s false but (R) is (©) (A) ¥ & f5g (R) (@) (A) Tt ® feg (R)
falsey true HERR- A ®

59. Interngkeonflict that occurs, when people receive 59 37faRe @rd, Sr@ T Refd & &ROT S &,
inform@on incompatible with their value system S 5 3 enafRe 1135[‘[‘ @ fovg o= ua
;;)kfgm?ﬁ’tés- FoE . B9 W 2T 8, oF 59 w9 § e o 87

ognitive nvironmenta . AR Ceieoier Rttt
Dissonance Dissonance {8} HEFTI . (k) .
(c) Social Dissonance  (d) Political Dissonance (o) WS fawmfer  (d) wrorifoe fawrfa

60. Which one of the following is not a type of 60- fFr=ifeiRad & & & A T Yomeil HIT=TRD
informal communication network? | {ER Hedd BT YhR el 87
() Proability (b) Cluster (a) F¥TeIar (b) wHE
(©) Goggip (d) Circular (c) TToerg (d) FgpeR (TRT)

61. Given below are two statements, one is labelled 61. i 1 B fov v E o9 9 v @ arfiwem
as assertion (A) and other as reason (R) = (A) 3R TER BT BRI (R) FET TAT & —
Assertion (A) — Clarity of communication is WHYT (A) — HAR B Tedr FIEY FAaR

essential for effective ufthar @ forg amavas 2|
communication process. PR (R) — Fifp gfegad (qaiean) vd ersfin
Reason (R) — Because adequacy and timing is not (g ferRen) gragel H9R afsar
> essential for effective @ forg smavas -3l B
&y  communication process. 41 faw 7T e 4 el 9w gy —
Select cprrect answer using code given below - (@) (A) 3% (R) ST (b) (A) 3R (R) THI
(a) Botﬁ}A) and (R) are (b) Both (A) and. (R) are ¥ ¥ 3R (R), (A) wed € 5 (R), (A)
true and (R) is : true but (R) is nqt TS T BT 9 9 @ T8
correct explanation correct explanation '
of (A) of (A) 8 F¥A 8
(c) (A)is true but (R)is (d) (A)is false but (R) is (©) (A) ¥ ® f&=g (R) () (A) Terq e f&g (R)
false true Tad 8 g

62. Select one alternative from the following, which  62. fa=faiRad fadedi # & fvdll Uap fAded a1 g,

is not a way of dealing with rumours - T AHATE DI GAST P AADT 7 & —
(@) Providing facts (b) Reduction of causes (a) G2 SUTel BT (b) BRI BT HH HRAT
(c) Use of reliable (d) Concealment of fact () et i &1 (d) e @ i W
sources from leaders of
. AN AT ey fourEm
community
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63.

64.

65.

66.

67.

68.

69.

70.

Originally who developed the concept of
‘Transactional Analysis’?

(@) Joseph Luft (b) Eric Berne
(e) Harrington ingham (d) None of the above

Which one of the following is not a psychological
barrier in communication?
(a) Bodily expressed  (b) Premature
message evaluation
(c) Distrust in (d) Inattention
communication

In the communication model, the process of
putting the ideas into a message is known as -

(@) Persuasion (b) Encoding

(c) Decoding (d) Interference

the  following
communication process in correct sequence —
(1) Source

(2) Channel

(3) Receiver

(4) Message

(5) Feedback

(6) Noise

(@) 1,4,2,3,6:5
€ 1,3,4,2,6,5

Arrange elements  of

(b) 1,2,3,4,5,6
(d) 4,5,6,1,2,3

Which one of the following is NOT a component

of listening?

(a) Sensing (b) Evaluating

(c) Responding (d) Persuasion

Paralanguage is related to -

(@) Interpersonal skills (b) Verbal
communication

(d) Downward
communication

Shyam is friend of Ram. Pointing to Manish,

(¢) Non-verbal
communication

Shyam asked Ram, who is he? Ram said, “His son
is my son’s uncle”, Manish is related to Ram as -
(a) Father (b) Father-in-law

(c) Grandfather (d) Brother

If on 31t March, 2008 is Monday, then what day
shall be on 315 March, 2011?

(a) Sunday (b) Tuesday

(€) Thursday (d) saturday

63.

206595

L
(4 9]

e

o

265905

70.

AR fageryor Rigia o1 Jera: wdver fbam
faef¥a far?
(b) TR& &+

(a) SIRIw e
(c) eRTe gem (d) STa # & B 7E

- Praffed % § B WOR 4 e Aaehe

qET TE 87
(a) 2R w9 e (b) T A Yd Hedih
GER]

(c) ¥aR ¥ affdvarg (d) arTger=
- R #fed ¥, faRi &1 "@ewr # s &) ufthan
®I fbd ST § ST W7 872
(@) 3rgTa (b) Hepcirapvor
() SrFdTTBRoT (d) BxrerT
- AR Ufhar & fAefolad dol o 9El e §
FaReIT BITT —
(1) i
(2) ATETH
(3) ATl
(4) e
(5) wfergfie
(6) TR
(Bdgi®?, 3, 6,5 (b) 1,2,3,4,5,6
(€) 1,3,4,2,6,5 (d) 4,5,6,1,2,3
- MfalRea § & o9 s@er &1 9@ T8 27
(a) e (b) TeaTE
(c) wfcrfshar &= (d) g

- URTHTST (URTeiTo) Hefdd & —

(a) erg:dafdas el (b) a1 Fuyor §
3

(c) 3rarfers FUwOr & (d) AR GOy |

- TG M BT S 8| AN B AR SIURT HRA §Y

M A M ¥ YT & a8 3 87 I A FE
“IABT 9T X 9 BT A7 & |7 FAY BT 9 9
T T 27

(@) foar (b) wagR

(c) gTeT (d) g

afd 31 /1, 2008 HT AHAR B, dF 3191, 2011
BT BT 37 BIT?

(a) Xfadar (b) HTETAR

(c) gEefaar (d) srfrarR

[A-2-24] 153102
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il B

72.

73.

Which one of the following years will have the
same calender as of 2009?

(a) 2014 (b) 2015

(c) 2016 (d) 2017

Refer to the statements given below —

I. All boys are truthful.

II. Kamal is boy.

Conclusion -

(1) Kamal is truthful.

(2) All truthful persons are boys.

Select the correct answer using the code -

() Only (1) is correct  (b) Only (2) is correct
() (1) and (2) both are (d) Neither (1) nor (2) is

correct correct

There is a clock, that is 3 minutes late on Sunday
at 2 p.m. and it is 5 minutes fast on Tuesday on
2 p.m., when did the clock show the right time?

7. = # ¥ fe 9¥ &1 dofst ad 2009 @ ARE

T BATT?
(a) 2014
(c) 2016

(b) 2015
(d) 2017

. 1 BAT @1 e of —

. T §TeTh FaTe! ® |

II. PHET §TTD & |

foreapd —

(1) A FTATET B |

(2) &) FEE STF B § |

0 Ry U @ & YA IS el SR

gfe -

(a) ®aat (1) 92 B (b) Baw (2) HET &

(c) (1) T (2) ST W& (d) 57 @ (1), 7 & (2)
g e

- T g Wl fAgR @I guEY 2 99 3 fiFe 4o @

3R HTeER Y s # 2 99 5 fAFe amr 2
39 U3l A 3P 9HY 9 fe@mr?

(a) Monday 10 a.m. (b) Monday 8 a.m.
(¢) Tuesday 2 a.m. (d) Tuesday 6 a.m.

(@) HHaIR g8 1099 (b) IHaR YaE 8 gl
(¢) HTSIaR Fag 2991 (d) FTEAR Yo 6 g9
74. The relation that is there between 6 and 16, 74 Gl WY 6 42T 16 ¥ 2, 98! Hag 12 9

remains the same between 12 and .............. ot H B |
(a) 23 (b) 29 (a) 23 (b) 29
(c) 34 (d) 42 (c) 34 (d) 42
75. This is a number series given below. What willbe ~ 75- 19l 8i& /@l & T8 8 | SHBT FTAT 3AF B
the next number in the series? AT gre
1,0,5,8,17, 24, .......... 1,0,5,8,17,24, ...
(a) 37 (b) 35 (a) 37 (b) 35
(c) 33 (d) 31 ; (c) 33 (d) 31
76. statement : College students should be 76. F : Piciol © BIAI BT IS Ifafaferr §
restricted from participating in AT o ¥ wfeRa far s =iy |
olitical activities.
Argument : {F:) Yes, college students should T : (1) &, Pleret P BT ST ATA TSI TR A
concentrate on studies. AT AR |
(1) Yes, colleges are becoming battle (1) B, BierT IoE Tall & forg T &7
ground for political parties. drer o o ¥

Select the correct answer -

HE SR BT TAIT DY —

(@) Only argument lis (b) Only argument Il is

strong strong () dadt T | Y9t & (b) Baet I Il YT &
(c) Neither | norllis (d) Both land Il are ©Fdrasd | AR T I(SH I1TF 1| yaaT &
strong strong g & .
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T

78.

79.

80.

81.

82.

83.

84.

Arrange the following words in the meaningful
manner —

(1) Train

(2) Car

(3) Cycle

(4) Bus

(@ 1,234 (b) 3,2,4,1

(€) 3,4,1,2 d1,3,4,2

Anuj is facing North-East. He turned 90° in the
clockwise direction, then 180° in the

anticlockwise and then another 90° in the same
direction. Which direction is he facing now?

(a) South — West (b) North — West

(¢) South — East (d) North

Select the related number from the given
alternatives — ‘

43075737
(a) 48 (b) 50
(c) 51 (d) 49

Find the correct alternative from the following —
Glasses : ? : : Bicycle : Unicycle

(@) Monocle (b) Pedal
(¢) Mirror (d) Face
Who has said, ‘Decision. making involves

evaluating alternatives and making choices
among them.’?
(a) Rathus
(c) Baron

(b) Santrock
(d) matlin
Inductive reasoning is based on -

(b) General to specific
principle

(a) Specific to general
principle
(¢) Both type principles (d) None of these

Algorithm is a type of -
(@) Mechanical solution (b) Heuristics

(¢) Rule of thumb (d) Means-end analysis

Functional fixedness produces
problem solving process.

(a) Facilitation (b) Blocking
(¢) Partial facilitation  (d) No effect

77

- Fefafea o)l @1 waife eeigl ww ¥
ZgRerd H —
(1) vei
(2) PR

- (3) T

78.

79.

80.

81.

82.

83.

84

(4) &%

(@ 1,2,3,4 (b) 3,2,4,1

(c) 3,4,1,2 (d1,3,4,2

ST BT & ITR—Yd B AR 8 | 98 90° T &
ferem # €, = 180° arrast fem # 3R fibe .
90° I feem # o | o I' fbw flwm @ &

S &7

(a) aferr — ufdem (b) ITR — uf¥aw
(c) =féyor — qd (d) IR

R v fawedi & wafm wenm @ @+
HITTY —

4:17::7:7 .

(a) 48 (b) 50

(c) 51 (d) 49

FrefaRad & 3 W fReey &1 ag9 e —
a2 ? o GEfeS  gAaEfEe

(a) HIFIBA (b) teet

(c) sfem (d) =T

T IFH A FIT B (7D

(@) ver (b) Hvgtew

(c) == (d) #eform

JAMTHHS dd enfRa & —

(a) faf¥re & s (b) 9= @ e
Rrgia w frgia o

(c) T bR @ Rygiar(d) 379 ¥ 1 78
)

TR U YbR & —

(a) a1 THRIE 1 (b) Wa: oY B

(c) suaeiR® 9\ &1 (d) greF—areg fageyor

Eall
- ypaHE  Remdr wuwn @aRE UHH #
(a) warIdr (b) qrerr
(c) 3rifirep \erIar (d) @1 uywrg &

[A-2-24] 153102
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85.

86.

87.

88.

89.

90.

91.

92.

93.

If a subject attempts to solve a problem on the
basis of his past experiencé', it is called -

(a) Transfer effect
(¢) Mental set

(b) Confirmation bias
{d) None of these

For one possible solution after another is tried
until a successful one is found, is called -

(a) Insight (b) Guess

(¢) Trial and Error (d) None of these

Which one of the following is not used by the
people as a method of problem solving?

(a) Heuristics (b) Algorithms

(¢) Trial and Error (d) Functional Fixedness
Which one of the following methods of problems
solving gives guarantee of success?

(b) Algorithms method

(d) Planning method

(a) Heuristics method
(c) Backward method
Which type of problem was used by Kohler in
preblem solving? ‘

(b) Detour problems

(d) None of these
Which problem task is not used in animal subjects
among following?

(a) Verbal material
(c) Puzzle box

(a) Puzzle box (b) Detour problem

(c) Anagrams (d) Double alternation
problem

Find the missing number in the following -

2,3,4,6,6,9,8,12,10, ................,, 12, 18, 14, 21,

16, 24

(@) 21 (b) 9

(c) 15 (d) 16

Anoop and Sunil are ranked seventh and eleventh

respectively from the top in the class of 31

students. What will be their respective ranks

from the bottom in the class?

(a) 20t and 23" (b) 24t and 20t

(c) 25" and 21% (d) 26t and 22™

The missing letter in the sequence Q, N, K, ?, E
is -

(@ L (b) H

{©) N (d) p

85. gfy H1E waow Rl TR HT EEE S
Taf @ MR WX BY FT T bRal 8§,

T Wm%l
(a)aqr—dwwa (b) gETERROT TETITd
c) AR fa=m d) 378 | ®I1g TRl

C}.}w Rkt e 151 ﬁ‘vm Jherar e dd
LE) TATRT BRAT oo PHET STl B |
(D)
& (a) qIgA (b) AT

(o) v wd 3R d) 3 & P TE

87. fepifra § & BT U T FAMM B A
iﬁiﬁqﬁwﬁmwwﬁﬂ%?mm%‘?

a) ¥ad: T ~(b) TemRem™
()mqagf% (d) ypraicHs Rerar
mﬂwwaﬁﬁrﬁ%@aﬁm%mﬁw
m@ﬁﬁwmaﬁmﬂﬁ%‘?
O(a)?aaﬁﬁuﬁﬁ} b) TemifRer fafr
c) g fafer (dmﬁfﬁ

89-WW§W$WWW33
FEIT BT JArT far wan?

., (@) wnfese |r (b) STcgey Uy HHRATY
&) (©) weft #opar (d) 37 & BIg TE
90. frerifepe # & BN AT RIS B qY vl
&1 forg Sy 7€ fear S €7

a) Teell Homr (b) STycET T2y FERATY

() Tamm= d) gevl AR

Y

%ﬁmﬁmﬁﬁﬁwﬁwmzﬁm—

2 2,3,4,6,6,9,8,12,10, o ,12,18, 14,21,
816 24
o (@) 21 (b) 9

(¢) 15 (d) 16

92. qep pe P 31 BT H U IR GAld BT HA
TR Y HHEY A9l 3R REdr & B H A
Y SHDT B HH FIT BIIY

(@) 2097 3fiw 23 @f (b) 249t 3R 2097

(¢) 25 @i 3R 21740 (d) 26 dT afik 22 4f
93. A Q, N, K, ?,E 7 g« 38R 8 —

(a L (b) H

(©) N dp

[A-2-24] 153102
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94.

95.

96.

87.

98.

99.

100.

Choose the number pair/group which is different
from others -

(a) 8:25 (b) 22:67

(c) 18:73 (d) 15:46

A and B are brother and sister respectively. C is

father of A, D is sister of C and E is mother of D,

then how is B related to E?

(@) Grand daughter (b) Great Grand
daughter

() Aunt (d) Daughter

Ifin any code language, LC is written as 6 and TE

is written as 10, then what will be the code SEPD

in the same code language? fg
(a) 12 (b) 9 o
(c) 8 (d) 7

A train of length 140 m is running at a speed of
60 km/hr and a cat is running in the same
direction parallel to the train at a speed of
18 km/hr. The train will cross the cat in - L‘

(a) 10 seconds (b) 11 seconds
(c) 12 seconds (d) 12%seconds f

UJ"[‘]‘:;.:H__I

Find the correct alternative for the mﬁﬁing
term—
ABC, 6, EFG, 210, IJK, ?.

94.

95,

96.

97.

98.

99.

100.

3B I /g BT g T o W A= 8 —
(a) 8:25 (b) 22:67
(c) 18:73 (d) 15:46

A TIT B HHEL 4TS SR 989 €| C, AHT [ D,
C®! 81 3R E, D 31 97 81, dI B, E ¥ < GHR
Heforg 87

(a) greir (b) mar=

(c) =i (d) 97

gfe fHd wre wreT 9, LCHT 6 9T TE @1 10
forar wmar 8, d S0 @ 9T % PD @ e
T BAIT?

(a) 12 (b)
(c) 8 (d)
140 Hlex o= NerTer 60 B /59 ) 9
| O W& B 3N U faeeh feem & Yo
B FAAR 18 {5 H. /a0 9 = ¥ Az <&
2 | NSl faeel &7 YR F¥ onft —

%@\JLD

(@) 10 YPpvs F (b) 11 B@vs ¥
(©) 12 9@pvs H d) 125@@1@;5;
<t Ug & forg W famed sia g —
ABC, 6, EFG, 210, 1K, ?

(@) 1000 (b) 190

(c) 990 (d) 999

i a+b=§+-§, ql a2+b? &7 A & —

(@ o (b) 1

(c) 2 (d) 8

g E =5, AMENDMENT = 89 &I, dF SECRETARY
AR & —
(@) 114
(c) 115

(b) 100
(d) 112

(a) 1000 (b) 190

(c) 990 (d) 999 0

if a+b= —+— thenthevalueofa2+b21m

(@ o (b) 1 UD
o

(c) 2 (d) 8 o~

If E=5, AMENDMENT = 89, then SECRETARY is

equal to -

(&) 114 (b) 100

(c) 115 (d) 112
E(,.‘%;
0
[Te)
o
o

[A-2-24] 153102

Page 13 of 16

AR 0




